Ice-O-Matic

Ice-O-Matic Parts List Price

Effective 1/1/18

Revised: New

Part Number Description 1/1/18 List Price
1011337-01 TOP PANEL $175.96
1011337-02 INSULATION $43.02
1011337-03 COVER $9.52
1011337-04 ZBRACE $50.75
1011337-05 UPPER DOOR FRAME $20.62
1011337-07 DOOR BUSHING $2.78
1011337-08 CURTAIN $98.86
1011337-09 FRONT PANEL $119.67
1011337-10 LEG KIT (SET OF 4) $53.97
1011337-14 BACK PANEL $49.94
1011337-20 BRACKET WATER PUMP $12.87
1011337-24 SPRAY NOZZLE SET OF 3 $33.09
1011337-25 GASKET $3.87
1011337-26 SPRAY SYSTEM (COMPLETE) $62.49
1011337-27 Z HOSE CLAMP $2.78
1011337-28 INLET WATER VALVE $133.75
1011337-29 Z HOSE - PUMP TO JETS $10.55
1011337-31 WATER PUMP $436.17
1011337-32 DRAIN TOP $3.87
1011337-34 O-RING $3.87
1011337-38 DRAIN FITTING $5.83
1011337-39 BIN DRAIN HOSE $10.59
1011337-43 INLET WATER ADAPTOR $106.23
1011337-46 TUBE CLIP $16.21
1011337-47 EVAPORATOR $496.07
1011337-48 CONDENSER $161.49
1011337-49 DRIER $17.46
1011337-50 ACCUMULATOR / SUCT LINE $167.63
1011337-52 FAN MOTOR $291.26
1011337-56 HOT GAS VALVE BODY $96.95
1011337-57 HOT GAS VALVE COIL $60.11
1011337-58 STRAINER $4.57
1011337-59 COMPRESSOR $519.02
1011337-61 RELAY $39.27
1011337-62 OVERLOAD $44.35




1011337-63
1011337-64
1011337-68
1011337-69
1011339-04
1011339-104
1011339-106
1011339-13
1011339-143
1011339-144
1011339-157
1011339-160
1011339-235
1011339-33
1011339-50
1011339-52
1011339-65
1011339-66
1011339-71
1011339-74
1011339-84
1011339-95
1011342-01
1011342-02
1011342-03
1011342-04
1011342-05
1011342-06
1011342-07
1011342-08
1011342-09
1011342-10
1011342-100
1011342-101
1011342-102
1011342-103
1011342-104
1011342-105
1011342-106
1011342-107
1011342-108
1011342-109
1011342-11
1011342-110
1011342-111
1011342-113
1011342-114

TOGGLE SWITCH
TERMINAL BOARD
CUBE SIZE CONTROL
HI TEMP CUTOUT
O-RING
GASKET
RETURN ASSEMBLY
SECOND GEAR THIRD PINION
LEG (4) SET
DISPENSE ROTOR
SOLENOID
HUB INCL BRG & SEAL
HUB PLATE ASSY
DRIVE BLOCK
HEX NUT (8-32)
WASHER FOR COIN
LOCKWASHER
WASHER
SCREW
SCREW
INTERLOCK SWITCH
ZO-RING
GASKET GATE
PIN DRIP TRAY MOUNTING
RETAINER AGITATOR
MOTOR MOUNT
EXTENSION ASSY DRIP
AGITATOR ASSY
BAFFLE
LEVER CUP DISPENSER
MERCHANDISER 10D250
MERCHANDISER 10D200
PANEL 30IN IOD
SERVICE REPAIR KIT
SPRING SOLENOID ARM
WASHER CAPTIVATING #8
LEG
STRAP MOTOR CORN #
SHOULDER SCREW 1/4-20
SCREW 3/8-16X3/4
CUP REST
NUT WING 3/8-16
MERCHANDISER S.S. ED150
WASHER
SHOULDER SCREW #8-32
ELECTRICAL BOX ID150
REFLECTOR PANEL ID150

$18.98
$14.18
$117.59
$44.76
$6.38
$2.63
$124.82
$137.29
$57.52
$113.28
$224.32
$100.57
$24.64
$164.36
$2.78
$5.26
$2.78
$2.78
$2.78
$2.78
$20.35
$2.78
$16.07
$38.41
$101.83
$226.94
$817.39
$740.58
$110.45
$345.41
$3,000.96
$1,136.05
$1,026.61
$492.58
$10.38
$1.05
$54.15
$359.03
$20.91
$1.52
$209.21
$10.76
$2,642.30
$1.05
$25.96
$206.39
$158.05



1011342-115
1011342-116
1011342-117
1011342-118
1011342-119
1011342-12
1011342-120
1011342-122
1011342-123
1011342-124
1011342-125
1011342-126
1011342-128
1011342-13
1011342-133
1011342-138
1011342-139
1011342-14
1011342-140
1011342-141
1011342-142
1011342-143
1011342-144
1011342-145
1011342-146
1011342-148
1011342-149
1011342-15
1011342-150
1011342-151
1011342-152
1011342-153
1011342-154
1011342-155
1011342-16
1011342-17
1011342-18
1011342-19
1011342-20
1011342-21
1011342-22
1011342-23
1011342-24
1011342-25
1011342-26
1011342-27
1011342-28

HINGE GUSSET
REFLECTOR PANEL ID200
ELECTRICAL BOX ID200
CLAMP CAPACITOR
ELECTRICAL BOX ID250
GATE SLIDE
REFLECTOR PANEL ID250
DRIP TRAY EXTENSION
LAMPHOLDER
SOCKET STARTER
ELECTRICAL BOX ASSY 120V
ELECTRICAL BOX ASSY 120V
ELECTRICAL BOX ASSY 120V
RETAINER LEVER DISPENSER
AGITATOR MOTOR
TIMER AGITATION
ICE CHUTE
PLATE SOLENOID MOUNTING
THREAD FORMING SCREW
LOWER FRONT PANEL I0D150
PANEL LOWER FRONT
WASHER #10
GATE RESTRICTOR
PLATE MOTOR MOUNTING
PLATE MOTOR MOUNT
CAPACITOR AGITATION
CLIP PUSH-ON
ARM GATE LIFT
CUP REST
GRAPHIC ID200
GRAPHIC ID250
GRAPHIC 10D150
SCREW MACHINE PH
STUD WING HEAD 1/4
BRACKET MOTOR MOUNTING
WRAPPER KIT
COVER REAR WRAPPER
BRACKET MOTOR MOUNT
CABINET
COVER REAR WRAPPER
AGITATOR
CLAMP CAPACITOR 120 VOLT
CAPACITOR
AGITATOR MOTOR HEATER
DISPENSE SWITCH
TERMINAL BOARD 120V
POWER CORD 120V

$30.73
$302.97
$306.80
$15.73
$508.12
$105.98
$355.22
$850.12
$6.28
$5.02
$1,681.89
$1,732.13
$1,197.20
$28.23
$2,880.41
$265.02
$79.04
$18.28
$2.78
$1,067.63
$1,333.98
$1.05
$14.49
$16.19
$595.90
$599.54
$2.78
$60.88
$206.09
$941.62
$1,891.66
$326.64
$4.20
$41.44
$805.28
$1,385.56
$69.59
$455.54
$1,326.27
$111.87
$3,127.40
$5.30
$72.92
$84.46
$173.15
$36.79
$76.59



1011342-29
1011342-30
1011342-31
1011342-32
1011342-33
1011342-35
1011342-38
1011342-40
1011342-41
1011342-46
1011342-47
1011342-48
1011342-49
1011342-50
1011342-51
1011342-52
1011342-53
1011342-55
1011342-56
1011342-57
1011342-58
1011342-59
1011342-60
1011342-61
1011342-63
1011342-64
1011342-65
1011342-66
1011342-67
1011342-68
1011342-69
1011342-71
1011342-72
1011342-73
1011342-76
1011342-77
1011342-78
1011342-79
1011342-80
1011342-81
1011342-82
1011342-83
1011342-84
1011342-85
1011342-86
1011342-87
1011342-88

BOOT SWITCH
TERMINAL BOARD
STARTER
BALLAST 120V
BULB FLORESCENT
BULB 18 IN DAYLIGHT
SOLENOID ASSY
RELAY START 120V
AGITATOR MOTOR
TIE CABLE
ISOLATOR
BEARING GATE ARM
SNAP BUSHING
ADAPTER 3/4SOCX 3/4
1IN X 3/4IN MPT
SPACER

SEAL AGITATOR MTR SHAFT

PLUG CORN # 51908
HOPPER ASSY FOAMED
GASKET MOTOR SHAFT

PANEL PLEXIGLASS INNER
HOPPER ASSY 10D200
PANEL INNER
HOPPER ASSY INSUL ID250
RETAINING TAB

MERCHANDISER BLK 10D150
MERCHANDISER BLK 10D200

MERCHANDISER BLACK
LID DISPENSER BLACK
LID DISPENSER BLK
COVER ICE CHUTE
DRIP TRAY BLK INSULATED
DRIP TRAY BLK INSULATED
AGITATOR DISK
NUT HEX #10-32
NUT HEX #10-32 NYLOCK
HEX NUT 1/2-20
WASHER .255 ID
WASHER FLAT #8
WASHER #10.219 1D
WASHER LOCK #10
WASHER .218 ID.
WASHER
NUT HEX #8-32
INSERT THREADED #8-32
SCREW #8-32 X 1/4
SCREW #8-32 X 5/8

$30.27
$45.51
$37.83
$161.77
$123.46
$211.62
$1,435.22
$262.17
$5,640.55
$1.05
$17.51
$32.31
$2.99
$14.78
$20.18
$2.78
$147.84
$2.99
$5,058.53
$21.57
$561.52
$4,890.69
$370.59
$6,333.04
$3.02
$554.45
$694.35
$790.32
$1,044.38
$508.76
$174.60
$963.90
$1,058.33
$105.81
$1.05
$1.05
$2.78
$1.05
$1.05
$1.05
$1.05
$1.05
$1.05
$1.05
$3.50
$1.05
$1.05



1011342-89
1011342-90
1011342-92
1011342-93
1011342-94
1011342-95
1011342-96
1011342-97
1011342-98
1011342-99
1011343-01
1011351-02
1011351-03
1011351-04
1011351-05
1011351-07
1011351-08
1011351-09
1011351-10
1011351-101
1011351-102
1011351-103
1011351-104
1011351-105
1011351-106
1011351-107
1011351-108
1011351-109
1011351-11
1011351-110
1011351-111
1011351-112
1011351-113
1011351-115
1011351-116
1011351-117
1011351-118
1011351-119
1011351-12
1011351-120
1011351-121
1011351-123
1011351-124
1011351-129
1011351-13
1011351-130
1011351-14

SCREW MACHINE PH
SCREW MACHINE PH
SCREW #10-32 X 3/8
SCREW MACHINE PH RD HD
SPRING MOTOR HEATER
SCREW MACHINE PH
HOSE CLAMP WORM
SPACER SWITCH
RECEPTACLE 1/4 TURN
RETAINER 1/4 TURN
KIT TOP DISCH AIR DEFL
DRAIN TOP
HOSE CLAMP
WIRE CLAMP
DRAIN BOTTOM
HOSE CLAMP
DISPENSE CHUTE
DOOR
DOOR LOCK
SUPPORT BRACKET CD40030
SUPPORT BRACKET CD40022
BIN DOOR
MOUNTING PLATE
CATCH PAN SUPPORT
STIFFENER CD40030
STIFFENER CD40022
BASE STIFFENER CD40030
BASE STIFFENER CD40022
BRACKET
MOUNTING BRACKET 30 IN
MOUNTING BRACKET 22 IN
SWITCH PLATE
SWITCH PLATE TOP
SWITCH GUARD
DRAIN GUARD
DRAIN PAN BRACKET
CLIP
INDICATOR LIGHT BACKING
SPOUT
ICE DEFLECTOR 30 IN ONL
CD40022 BACK PANEL
BRACKET
COIN MECH TIMER
MOUNTING BRACKET 30 IN
WIRE
MOUNTING BRACKET 22 IN
DISPENSE HSG CD40022/30

$1.05
$1.05
$2.78
$3.15
$14.87
$3.71
$12.04
$8.05
$15.35
$1.79
$453.02
$2.78
$2.78
$2.67
$13.29
$2.67
$49.93
$23.07
$23.04
$42.51
$40.74
$102.28
$13.18
$9.82
$30.03
$27.57
$26.41
$20.61
$32.95
$187.36
$179.51
$11.64
$11.72
$11.37
$42.55
§7.72
$9.09
$4.48
$27.46
$35.54
$82.91
$6.89
$222.02
$27.83
$29.25
$27.83
$286.42



1011351-15
1011351-16
1011351-17
1011351-19
1011351-20
1011351-21
1011351-22
1011351-23
1011351-24
1011351-25
1011351-26
1011351-27
1011351-28
1011351-29
1011351-30
1011351-31
1011351-32
1011351-35
1011351-36
1011351-38
1011351-39
1011351-40
1011351-41
1011351-42
1011351-43
1011351-44
1011351-45
1011351-46
1011351-47
1011351-48
1011351-49
1011351-50
1011351-51
1011351-52
1011351-53
1011351-54
1011351-55
1011351-56
1011351-57
1011351-58
1011351-60
1011351-61
1011351-62
1011351-63
1011351-64
1011351-65
1011351-66

DISPENSE HOUSING CD40130
GRILL
SIDE FLANGE
SIDE FLANGE CD40022
RIGHT SIDE FLANGE FOR
DRAIN HOSE
SWEEP ARM
WATER FAUCET
TOP PANEL CD40030
TOP PANEL CD40022
PANEL INSULATION CD4003
PANEL INSULATION CD40022
FOAM PAD
GASKET
SCREW
PAL NUT
SCREW
SCREW
RETAINER
SPRING
CUPPED WASHER
STRIKE (BALL STUD)
INSERT
SCREW TOP PANEL
PLASTIC NUT
SCREW
HITCH PIN
STUD 1/4 TURN
LOOP CLAMP
LOOP CLAMP
STRAIN RELIEF
SNAP BUSHING
POWER CORD 230V
POWER CORD 115V
VEND SWITCH
HARNESS BASIC 60 HZ
CYCLE TIMER OFF 60 HZ
CYCLE TIMER OFF 50 HZ
COIN MECHANISM TIMER
ADJUSTMENT MODULE
DOOR AND LOCK
MOUNTING SCREW
COIN MECHANISM
COIN SWITCH
LOCK AND KEY
KEY
GEARMOTOR DISPENSE

$301.52
$46.59
$31.21
$50.16
$330.55
$75.90
$936.12
$749.96
$110.21
$91.02
$35.40
$16.02
$16.91
$3.16
$1.05
$1.87
$2.78
$1.05
$2.78
$2.78
$2.78
$2.78
$2.78
$2.78
$2.78
$4.13
$28.85
$9.95
$2.67
$2.78
$1.05
$1.05
$62.80
$30.64
$41.91
$23.44
$245.77
$271.62
$282.43
$333.35
$295.42
$2.80
$233.30
$30.57
$60.80
$16.02
$1,838.94



1011351-67
1011351-68
1011351-69
1011351-70
1011351-71
1011351-72
1011351-73
1011351-74
1011351-75
1011351-76
1011351-77
1011351-78
1011351-79
1011351-80
1011351-81
1011351-82
1011351-83
1011351-84
1011351-85
1011351-86
1011351-87
1011351-89
1011351-91
1011351-92
1011351-94
1011351-95
1011351-96
1011351-97
1011351-98
1011351-99
1011357-01
1011357-02
1011357-03
1011357-04
1011357-05
1011357-06
1011357-07
1011357-08
1011357-09
1011357-10
1011357-101
1011357-103
1011357-104
1011357-106
1011357-107
1011357-108
1011357-109

HARNESS 50 HZ
READY LIGHT
O-RING
TERMINAL COVER
TUBING PER FOOT
INSULATION FOR HUB
INSULATION PAD
WATER INLET FITTING
STRAIGHT CONNECTOR
DRAIN FITTING
MALE ELBOW CONNECTOR
SHUT OFF VALVE
COIN MECHANISM LABEL
MOTOR CAPACITOR
GASKET
FOAM GASKET
STRAP
LEFT SIDE PANEL
BIN ASSY CD40030
BIN ASSY CD40022
DRAIN PAN ASSY
FRONT PANEL ASSY CD400
FRONT PANEL ASSY CD40230
FRONT PANEL ASSY CD40022
RIGHT SIDE PANEL
BACK PANEL CD40030
BIN SUPPORT LEFT
BIN SUPPORT RIGHT
CONTROL BOX COVER
SCREEN
GEAR CASE ASSY
PIN VANE
SHAFT
SCREW
SCREW
SCREW
GREASE
COUPLING
INSULATION
FRONT PANEL
PCB COVER
VALVE PISTON
TOP BEARING
METAL DIVIDER
METAL BRACKET FITTING
REAR PANEL
FITTING BRACKET COVER

$52.67
$32.22
$4.07
$5.58
$2.78
$10.22
$3.73
$27.64
$11.80
$6.48
$41.37
$42.02
$27.58
$15.95
$2.78
$2.78
$3.07
$243.26
$805.76
$675.89
$428.85
$447.04
$481.04
$430.95
$239.44
$103.86
$73.09
$71.81
$11.13
$13.41
$425.57
$22.07
$41.44
$3.66
$2.78
$3.82
$186.40
$108.43
$77.41
$369.21
$7.68
$2.78
$427.46
$66.19
$62.62
$143.81
$37.60



1011357-11
1011357-110
1011357-111
1011357-112
1011357-113
1011357-114
1011357-115
1011357-116
1011357-117
1011357-118
1011357-119

1011357-12
1011357-121
1011357-123
1011357-124
1011357-125
1011357-126
1011357-127
1011357-128
1011357-129

1011357-13
1011357-130
1011357-131
1011357-133
1011357-135
1011357-136
1011357-137
1011357-138
1011357-139

1011357-14
1011357-140
1011357-142
1011357-143
1011357-144
1011357-145
1011357-148
1011357-149

1011357-15
1011357-150
1011357-151
1011357-153
1011357-154
1011357-155
1011357-156
1011357-157
1011357-159

1011357-16

DISPENSING MOTOR
ICE SPOUT BRACKET
DISPENSING MOTOR COVER
LEFT SIDE PANEL
RIGHT SIDE PANEL
R PCB SERVICE PANEL
WATER LEVEL METAL PIN
WATER INLET FITTING
FAN BLADE
ALUMINUM ADAPTER
NOZZLE
WATER PROOF GREASE
SUCTION LINE ACCUMULATO
MAGNETO HOLDER ASSY
WATER RESERVOIR ASSY
R ROTOR ASSY
GEAR REDUCER ASSY
DRIVE MOTOR COVER
BIN BOTTOM
ICE AGITATOR
FIBER WASHER
BRACKET DISPENSING MOTO
STORAGE BIN
TOP PANEL
KIT FRONT & TOP PANELS
FOAM PAD
GRILL: SINK
LABEL-ICE&WATER
ICE-O-MATIC LOGO
NUT
PCB COVER
PROTECTOR
WATER INLET VALVE
PLASTIC TUBE
ICE SPOUT COVER
EXTERNAL DRAIN HOSE
NUT
SCREW
O-RING
EVAPORATOR
LOW BEARING
ICE BREAKER ASSY
BOX ONLY
COVER
COND TEMP SENSOR
HARNESS DISPENSING
SCREW

$217.10
$24.37
$53.97
$188.55
$164.57
$52.65
$2.78
$28.61
$27.88
$69.01
$74.66
$153.71
$332.48
$18.72
$265.84
$305.05
$1,695.60
$65.04
$144.68
$277.06
$2.78
$18.93
$634.06
$103.17
$640.05
$91.35
$75.38
$50.59
$21.27
$7.42
$7.64
$40.39
$64.94
$27.48
$33.56
$10.70
$2.78
$2.78
$3.91
$1,266.73
$152.89
$1,305.43
$99.82
$53.40
$30.86
$21.17
$10.21



1011357-160
1011357-161
1011357-162
1011357-164
1011357-165
1011357-166
1011357-167
1011357-168
1011357-169
1011357-17
1011357-170
1011357-171
1011357-172
1011357-173
1011357-174
1011357-175
1011357-176
1011357-177
1011357-178
1011357-179
1011357-18
1011357-180
1011357-181
1011357-183
1011357-184
1011357-19
1011357-20
1011357-23
1011357-24
1011357-25
1011357-26
1011357-27
1011357-29
1011357-30
1011357-31
1011357-32
1011357-33
1011357-35
1011357-37
1011357-39
1011357-40
1011357-41
1011357-42
1011357-43
1011357-44
1011357-46
1011357-47

DISPENSING LED BOARD
DISPENSING SELECTOR
FRONT PANEL NO LABELS
COMPRESSOR ASSY B SERIES
PROTECTOR B SERIES
START RELAY B SERIES
START CAPACITOR B SERIES
DRIP TRAY
FAN MOTOR BRACKET
SCREW
SUCTION LINE/ACCUMULATOR
WATER HOSE(CUT TO 40IN)*
CAPACITOR
TOP/FRONT PANEL KIT
PC BOARD KIT (INCLUDES
PC BOARD ONLY
WATER SENSING WIRE
CONDENSER SENSOR B
EVAPORATOR SENSOR
CABLE HOLDER
SCREW
WATER SEAL
LOWER BEARING
CONNECTOR ADAPTER
LABEL ICE-WATER W/TEXT
SCREW
WASHER
TRUST WASHER
CLIP RING
SCREW
SIDE PANEL SCREW
BACK PANEL SCREW
PLASTIC TUBE
PLASTIC TUBE
PLASTIC TUBE
PLASTIC TUBE
START RELAY
START CAPACITOR
STATOR ASSY
HALL EFFECT SENSOR
EVAPORATOR TEMP SENSOR
WATER LEVEL SENSOR
FAN MOTOR
FAN BLADE
AIR COOLED CONDENSER
DISPENSING SENSOR RX
DISPENSING SENSOR TX

$71.81
$103.27
$235.79
$394.92
$7.06
$13.29
$34.71
$2.78
$2.91
$2.78
$236.45
$2.78
$22.76
$698.63
$572.15
$278.57
$8.65
$27.32
$44.93
$5.48
$2.34
$117.60
$172.34
$63.44
$160.56
$2.78
$2.78
$2.78
$2.78
$1.05
$2.78
$2.78
$30.67
$48.00
$22.43
$24.47
$119.90
$189.71
$249.57
$53.16
$47.43
$10.63
$146.83
$10.14
$273.23
$155.06
$158.09



1011357-48
1011357-49
1011357-50
1011357-51
1011357-52
1011357-53
1011357-54
1011357-55
1011357-56
1011357-57
1011357-58
1011357-60
1011357-61
1011357-63
1011357-64
1011357-65
1011357-67
1011357-69
1011357-70
1011357-71
1011357-72
1011357-73
1011357-74
1011357-76
1011357-78
1011357-79
1011357-81
1011357-83
1011357-85
1011357-87
1011357-89
1011357-90
1011357-91
1011357-92
1011357-93
1011357-94
1011357-95
1011357-96
1011357-97
1011357-98
1011357-99
1011369-16
1011380-01
1011380-02
1011380-06
1011380-07
1011380-115

PC BOARD & BOX ASSY
DRIER
CONTACTOR
GREASE SEAL
WATER SEAL
O-RING
O-RING
O-RING
GASKET
RUBBER WASHER
GREASE SEAL
RUBBER INSERT
O-RING
STRAINER
WATER INLET VALVE
VALVE CAP
VALVE BODY
CLIP RING
PLASTIC HOUSING
ICE LEVEL CONTROL ASSY
SPOUT INSULATION
INSULATION
ICE SWEEP
AUGER
CAP SCREW
WASHER SCREW
INSULATION COVER
LABEL ICE-WATER
BEARING
DRAIN FITTING
WATER RESERVIOR COVER
PLASTIC RING NUT
FLOAT VALVE ASSY
STORAGE BIN COVER
CONDENSER SHROUD
GEAR MOTOR COVER
DISPENSING FRAME
PLASTIC BRACKET
DISPENSING SPOUT
ICE SPOUT
PCB HOUSING
DOOR HINGE L/H
REPLACED BY 9021112-01
REPLACED BY 9021142-01
REPLACED BY 9051601-01
REPLACED BY 9051601-02
REPLACED BY 9181002-09

$641.78
$11.28
$186.31
$9.74
§72.33
$3.62
$2.78
$2.78
§7.21
$2.78
$4.88
$2.78
$1.05
$3.49
$60.25
$2.78
$2.78
$2.78
$7.36
$46.26
$13.32
$11.18
$10.65
$529.41
$1.05
$1.05
$2.78
$19.54
$20.62
$5.65
$5.13
$2.78
$27.79
$51.58
$49.29
$16.12
$58.25
$19.09
$30.98
$37.99
$369.21
$71.52
NLA
$135.02
NLA
NLA
NLA



1011380-117
1011380-128
1011380-13
1011380-130
1011380-139
1011380-143
1011380-163
1011380-168
1011380-172
1011380-176
1011380-186
1011380-189
1011380-206
1011380-21
1011380-220
1011380-225
1011380-226
1011380-228
1011380-230
1011380-25
1011380-27
1011380-38
1011380-44
1011380-46
1011380-57
1011380-58
1011380-59
1011380-60
1011380-66
1011380-67
1011380-68
1011380-77
1011380-80
1011380-81
1011380-82
1011380-83
1011380-84
1011380-85
1011380-86
1011380-92
1011382-01
1011382-02
1011382-04
1011382-09
1011411-01
1011411-02
1011411-03

REPLACED BY 9181002-02
REPLACED BY 1051175-01
REPLACED BY 9151171-01
OVERLOAD
OVERLOAD
REPLACED BY 9131490-01
REPLACED BY 6051073-01
REPLACED BY 9021141-01
REPLACED BY 9151169-01
REPLACED BY 9051614-01
REPLACED BY 9151127-01
REPLACED BY 9151141-01
REPLACED BY 3013379-01
REPLACED BY 9131452-01
REPLACED BY 9051619-01
REPLACED BY 9151167-01
REPLACED BY 9151196-01
REPLACED BY 3013394-01
REPLACED BY 9131560-01
REPLACED BY 9051506-01
REPLACED BY 9051632-01
REPLACED BY 9031001-44
REPLACED BY 9031001-42
REPLACED BY 9151168-01
REPLACED BY 9161120-01
REPLACED BY 9161120-02
REPLACED BY 9181132-01
REPLACED BY 9181132-02
REPLACED BY 9021120-01
REPLACED BY 9161139-01
REPLACED BY 9161140-01
MODE SWITCH
REPLACED BY 9051636-01
REPLACED BY 9051634-01
REPLACED BY 9051635-01
REPLACED BY 9051632-01
REPLACED BY 9051610-01
REPLACED BY 9021140-01
REPLACED BY 9021140-01
REPLACED BY 9151159-01
REPLACED BY 1051221-01
REPLACED BY 9051638-01
O-RING
EVAPORATOR SHORT
UNIT BASE
STORAGE BIN
CURTAIN BRACKET RH

NLA
NLA
$60.42
$51.07
$48.75
NLA
$52.56
$34.58
$1,920.83
NLA
$2,146.57
$1,784.84
NLA
NLA
NLA
$952.76
$1,121.26
NLA
$38.33
NLA
$37.50
$2.78
$16.96
$120.32
NLA
NLA
NLA
NLA
NLA
$1,040.99
$998.62
$32.49
$2.78
$4.65
$2.78
$6.72
NLA
$35.48
$36.17
NLA
$1,334.15
$41.97
$23.30
$1,755.89
$115.75
$629.71
$4.89



1011411-04
1011411-05
1011411-06
1011411-07
1011411-08
1011411-09
1011411-10
1011411-11
1011411-12
1011411-13
1011411-14
1011411-15
1011411-16
1011411-17
1011411-18
1011411-19
1011411-20
1011411-21
1011411-22
1011411-23
1011411-24
1011411-25
1011411-26
1011411-27
1011411-28
1011411-29
1011411-30
1011411-31
1011411-32
1011411-33
1011411-38
1011411-39
1011411-40
1011411-41
1011411-42
1011411-43
1011411-44
1011411-45
1011411-46
1011411-47
1011411-48
1011411-49
1011411-50
1011411-51
1011411-52
1011411-53
1011411-54

CURTAIN BRACKET LH
CURTAIN BRACKET UPPER
THUMBSCREW
CURTAIN ASSY
PLUG PLASTIC
SPRING
SHOCK ABSORBER
PANEL LEFT SIDE
PANEL RIGHT SIDE
PANEL REAR
BRACKET
PANEL TOP
THUMBSCREW
FRONT LINER
FRONT PLATE
CORNER PROTECTION LEFT
CORNER PROTECTION RIGHT
BRACKET FRONT
PANEL FRONT
LOGO IOM
FRONT SWITCH PLASTIC
AIR FILTER SEAT
SLIDE AIR FILTER
AIR FILTER
BIN DOOR
LEG KIT
COMPRESSOR
START CAPACITOR
REPLACED BY 1011411-68
REPLACED BY 1011411-68
FAN BLADE
EVAPORATOR ASSY
SUCTION LINE ASSY
BULB HOLDER
FLOW CONTROL
TUBE PVC
WATER INLET ELBOW ASSY
O-RING
METAL BRACKET
TUBE
SPRAY SYSTEM ASSY
ZPLASTIC PLUG
ZPLASTIC PLUG
SPRAY COVER KIT
TUBE
BIN DRAIN
SPRAY SYSTEM SEAT

$4.89
$15.69
$3.92
$86.32
$7.04
$14.34
$2.78
$193.60
$193.60
$82.19
$49.26
$277.95
$2.78
$18.17
$11.13
$2.78
$3.74
$36.37
$132.27
$16.01
$3.62
$8.22
$8.73
$53.95
$57.63
$86.54
$634.76
$251.64
NLA
NLA
$9.51
$463.27
$248.60
$6.83
$19.80
$11.74
$108.59
$2.78
$75.58
$10.03
$71.59
$18.15
$2.78
$20.65
$14.73
$4.75
$13.70



1011411-55
1011411-56
1011411-57
1011411-58
1011411-59
1011411-60
1011411-61
1011411-62
1011411-64
1011411-66
1011411-68
1011411-70
1011411-71
1011447-04
1011447-07
1011447-09
1011447-10
1011447-103
1011447-118
1011447-119
1011447-12
1011447-122
1011447-135
1011447-146
1011447-155
1011447-164
1011447-165
1011447-166
1011447-168
1011447-169
1011447-17
1011447-170
1011447-171
1011447-172
1011447-173
1011447-176
1011447-178
1011447-179
1011447-18
1011447-187
1011447-188
1011447-194
1011447-195
1011447-20
1011447-21
1011447-22
1011447-23

O-RING
WARNING LIGHT RESET BUT
MASTER LIGHTED SWITCH
SWITCH
BIN THERMOSTAT
COVER
METAL CONTROL BOX
PC BOARD
WATER INLET ADAPTER
LEG SOCKET
RELAY/PROTECTOR KIT
CONDENSER SENSOR
COMPRESSOR CUBIGEL GL90
ZBRACKET
CLAMP
Y SINK BLACK
Y GRILL
Y BIN BOTTOM
ZRIGHT SIDE LOWER SS
ZBACK PANEL SS
ZICE CHUTE BODY
Y WATER SENSOR
ZLOWER LEFT SIDE PANEL
ZBIN TOP
ZRH SINK SUPPORT
ZWATER TUBE SS WITH NUT
OUTLET ADAPTER
ZBIN VANE GEMD540
Y ICE LEVEL SENSORS SET
ZICE LEVEL SENSORS SET
ZRESERVOIR ASSY COMPLETE
ZLEFT SIDE PANEL SS
ZRIGHT SIDE PANEL SS
Y TOP PANEL SS
ZUPPER FRONT PANEL SS
Y LEFT SIDE PANEL SS
Y UPPER FRONT PANEL SS
ZSPLASH PANEL W/LABELS
Y BEARING
ZDRAIN TUBE GEMD520/525
Y RESERVOIR INLET TUBING
PORTION CONTROL KIT
ICE CHUTE ASSEMBLY
Y WATER CHUTE
YRESERVOIR J SERIES
Y DRAIN CASTING SINK
KIT DRAIN ADAPTER

$2.78
$14.04
$11.74
$4.61
$51.35
$33.47
$55.94
$424.98
$72.50
$5.81
$88.80
$33.45
$371.74
$33.14
$2.78
$279.17
$89.52
$334.53
$71.42
$214.45
$35.55
$119.50
$80.39
$104.87
$10.03
$29.41
$10.05
$658.69
$192.34
$130.47
$162.68
$119.02
$118.68
$101.84
$194.44
$134.05
$211.14
$197.25
$45.34
$69.77
$61.37
$459.13
$66.30
$49.82
$117.60
$37.65
$47.84



1011447-25
1011447-35
1011447-38
1011447-41
1011447-42
1011447-44
1011447-45
1011447-46
1011447-52
1011447-53
1011447-55
1011447-56
1011447-59
1011447-60
1011447-64
1011447-65
1011447-69
1011447-72
1011447-77
1011447-81
1011447-90
1011447-91
1011447-92
1011447-94
1011448-01
1011448-02
1011448-03
1011448-04
1011448-05
1011448-06
1011448-07
1011448-08
1011448-09
1011448-10
1011448-100
1011448-101
1011448-102
1011448-103
1011448-104
1011448-106
1011448-107
1011448-108
1011448-109
1011448-11
1011448-110
1011448-111
1011448-112

ZSPOUT
ZLOCK WASHER
SCREW

ZWATER REGULATING VALVE

Z HI PRESS CUT-OUT
FAN BLADE
Y SOLENOID ASSY 115VAC
Y INLET WATER VALVE
Y SENSOR SET
ZSTANDOFF CIRCUIT BOARD
Y BIN DRIVE MOTOR 115VAC
ZBIN DRIVE MOTOR 230VAC
Y CIRCUIT BOARD 115/60
ZCIRCUIT BOARD 230/50
SINK DRAIN TUBE 33 IN
Y WATER SHED
Z INLET ADAPTER
TEE UNION
ADAPTER FLANGE
ZST CAP 115/60 J SERIES
Y FAN MOTOR 115/60
Y FAN BLADE
YCOMPRESSOR 115/60
YOVERLOAD 115VAC
HANDLE DOOR
DOOR PANEL
INSULATION UPPER
MAGNET DOOR
INSULATION UPPER
DOOR GASKET
LINER DOOR
DOOR BOTTOM
SCREW HANDLE
BRACKET DOOR HANDLE
CAP SCREW
CAP SCREW
ADAPTER
AUGER
O-RING
ICE LEVEL SENSOR
TRANSFORMER
CONTROL PANEL
CONROLLER

BUSHING DOOR HINGE U & P

COVER
TOP HINGE BRACKET
BOTTOM HINGE BRACKET

$64.87
$2.78
$2.78
$332.23
$80.17
$4.24
$104.41
$103.56
$322.42
$2.78
$621.40
$624.14
$843.27
$1,744.76
$6.90
$25.66
$6.65
$2.78
$407.20
$31.65
$249.45
$18.76
$1,274.11
$41.70
$46.59
$83.28
$13.62
$85.83
$17.29
$30.98
$87.95
$19.80
$2.78
$10.19
$2.78
$2.78
$168.43
$649.37
$2.78
$304.80
$29.39
$147.05
$452.45
$7.48
$15.04
$30.06
$27.15



1011448-113
1011448-114
1011448-115
1011448-116
1011448-117
1011448-118

1011448-119S

1011448-12
1011448-120
1011448-121
1011448-122
1011448-123
1011448-125
1011448-126
1011448-127
1011448-128

1011448-13

1011448-14

1011448-15

1011448-16

1011448-17

1011448-18

1011448-21

1011448-22

1011448-23

1011448-24

1011448-25

1011448-26

1011448-27

1011448-30

1011448-31

1011448-32

1011448-33

1011448-34

1011448-35

1011448-36

1011448-38

1011448-39

1011448-40

1011448-41

1011448-42

1011448-43

1011448-44

1011448-45

1011448-47

1011448-49

1011448-50

HINGE RIGHT TOP
HINGE RIGHT BOTTOM
DRIER
FLOAT VALVE
PIN HINGE
ICE CHUTE KIT
SUPPORT BRACKETS L/R
DOOR SUPPORT
SPLASH DIVIDER
SCOOP HOLDER
CHECK VALVE
SPRING
CONTROL BOX (BLACK)
PACKING CAP
CARTON IOM
HOLE PLUG .125
DOOR SUPPORT CENTER
COMPLETE DOOR ASSEMBLY
GASKET TOP PANEL
GASKET TOP PANEL
GASKET TOP PANEL
SCREW
INLAY
FRONT SERVICE PANEL
HANDLE
SCREW
KICK PLATE COVER
SCREW
KICK PLATE
SIDE SERVICE PANEL
DRAIN PANEL
BACK PANEL
TOP PANEL ONLY
INSULATION TOP PANEL
SCREW 5/16-18
ICE SWEEP
SCREW
GROMMET
FLANGED BUSHING
CAP SCREW
VIBRATION GROMMET
WASHER
MOUNTING PLATE ONLY
DRAIN
THUMB SCREW
SUPPORT BRACKET LEFT
SUPPORT BRAKCET RIGHT

$62.37
$62.37
$36.37
$76.79
$17.00
$104.17
$103.47
$13.29
$25.04
$15.36
$6.90
$2.78
$34.44
$17.27
$47.63
$1.47
$13.37
$542.28
$4.15
$3.82
$5.40
$2.78
$8.88
$25.66
$6.48
$2.78
$21.66
$2.78
$14.70
$43.76
$6.05
$48.48
$218.72
$42.36
$2.78
$12.33
$2.78
$3.64
$3.81
$2.78
$4.45
$2.78
$15.28
$6.81
$3.81
$5.44
$5.44



1011448-51
1011448-52
1011448-53
1011448-54
1011448-55
1011448-56
1011448-57
1011448-59
1011448-61
1011448-62
1011448-63
1011448-64
1011448-65
1011448-66
1011448-67
1011448-68
1011448-69
1011448-70
1011448-71
1011448-72
1011448-73
1011448-74
1011448-75
1011448-76
1011448-77
1011448-78
1011448-79
1011448-80
1011448-81
1011448-82
1011448-83
1011448-84
1011448-85
1011448-86
1011448-88
1011448-89
1011448-90
1011448-91
1011448-92
1011448-93
1011448-94
1011448-95
1011448-96
1011448-98
1011514-01
1011514-02
1011514-03

TUBE RESERVOIR TO EVAP
BRACE
BRACKET
RESERVOIR MOUNTING BKT
WATER LEVEL SENSOR
WATER SENSOR HARNESS
RESERVOIR VALVE W/COVER
12 PK PRE-MIX BOTTLE
SUCTION LINE W/CAP TUBE
EVAPORATOR
COMP.W/OL RELAY DRIER
OVERLOAD
RELAY
CONDENSER
DRIER
CLIP
WASHER
GROMMET
SHROUD
GASKET
AIR BAFFLE
FAN MOTOR BRACKET
FAN MOTOR
FAN BLADE
SCREW
PUMP MODEL RAIN SHIELD
LEG LEVELER
HOLE PLUG
HOSE CLAMP
DRAIN HOSE
ELBOW
DISCHARGE HOSE
HOSE CLAMP
ELBOW
DRAIN TUBE
PRESSURE SWITCH
SWITCH HOSE
SWITCH BRACKET
PUMP MOTOR ONLY
BREAKER WITH BEARING
BEARING ONLY
WATER SEAL
WATER SHED
GEAR REDUCER W/MOTOR
TOP PANEL 15 INCH
INSULATION 15 INCH
INNER TOP PANEL 15 INCH

$41.33
$5.99
$6.31
$8.57
$23.93
$35.40
$167.51
$388.00
$108.11
$974.91
$667.43
$16.02
$15.36
$137.78
$36.37
$2.78
$2.78
$2.78
$22.45
$8.47
$2.78
$11.80
$94.35
$8.80
$2.78
$15.76
$2.78
$2.78
$2.78
$21.26
$4.37
$116.35
$2.78
$26.74
$46.76
$114.17
$6.98
$8.40
$541.34
$884.96
$132.71
$111.26
§77.11
$1,977.24
$58.50
$2.96
$13.53



1011514-05
1011514-07
1011514-08
1011514-09
1011514-10
1011514-100
1011514-101
1011514-102
1011514-11
1011514-12
1011514-13
1011514-14
1011514-15
1011514-16
1011514-17
1011514-18
1011514-19
1011514-20
1011514-21
1011514-22
1011514-23
1011514-24
1011514-25
1011514-26
1011514-27
1011514-28
1011514-29
1011514-30
1011514-31
1011514-33
1011514-34
1011514-35
1011514-36
1011514-37
1011514-38
1011514-39
1011514-40
1011514-41
1011514-42
1011514-43
1011514-44
1011514-45
1011514-46
1011514-470
1011514-471
1011514-472
1011514-473

SCREW
BUMPER
SCREW
DOOR LINER 15 INCH
LEFT SIDE PANEL
SKID HISUOS0
CARTON HISUO050
SKID HISUO50
BACK PANEL 15 INCH
RIGHT SIDE PANEL
FRONT PANEL 15 INCH
SCREW
SCOOP
BIN THERMOSTAT TUBE 15
TOP PANEL 20 INCH
INSULATION 20 INCH
INNER TOP PANEL 20 INCH
TOP FRAME 20 INCH
DOOR OUTER 20 INCH
DOOR LINER 20 INCH
BACK PANEL 20 INCH
FRONT PANEL 20 INCH
FAN MOTOR 90
FAN MOTOR 55-56-75-76
FAN MOTOR 95-96
COVER
BASE 15 INCH
BASE 20 INCH
RIGHT SIDE INSULATION
Z BIN LINER 20 INCH
INSULATION 15 INCH BIN
INSULATION 20 INCH BIN
LEFT SIDE INSULATION
INSULATION FILTER
EVAPORATOR
HOT GAS VALVE ASSM 115
HOT GAS VALVE COIL ONLY
HOT GAS VALVE ASSM 230
FAN MOTOR PRESSURE
SUCTION ASSM 50 230 VOLT
SUCTION ASSM 50-70 115
GROMMET
THERMISTOR CLIP
COMPRESSOR 50 115
RELAY 50 115
START CAPACITOR 50 115
OVERLOAD 50 115

$2.78
$2.78
$2.78
$25.17
$118.13
$65.86
$21.09
$63.28
$44.85
$118.13
$169.01
$2.78
$18.52
$10.98
$70.78
$71.52
$22.50
$25.24
$25.17
$52.08
$56.56
$237.52
$128.73
$100.74
$135.62
$125.63
$116.28
$111.83
$14.78
$249.08
$36.05
$39.36
$14.87
§7.31
$891.54
$148.66
$74.73
$127.74
$109.47
$82.48
$50.26
$57.48
$10.38
$563.10
$20.27
$51.65
$24.75



1011514-480
1011514-481
1011514-482
1011514-483
1011514-490
1011514-491
1011514-492
1011514-493
1011514-500
1011514-501
1011514-502
1011514-503
1011514-51
1011514-520
1011514-521
1011514-522
1011514-523
1011514-530
1011514-531
1011514-532
1011514-533
1011514-540
1011514-541
1011514-542
1011514-543
1011514-55
1011514-56
1011514-57
1011514-58
1011514-59
1011514-60
1011514-61
1011514-62
1011514-63
1011514-64
1011514-65
1011514-66
1011514-67
1011514-68
1011514-69
1011514-70
1011514-71
1011514-72
1011514-73
1011514-74
1011514-75
1011514-76

COMPRESSOR 55-56
RELAY 55-56 230/60-50
START CAPACITOR 55-56
OVERLOAD 55-56 230/60-50
COMPRESSOR 70 115
RELAY 70 115
START CAPACITOR 70 115
OVERLOAD 70 115
COMPRESSOR 75-76
RELAY 75-76 230/60-50
START CAPACITOR 75-76
OVERLOAD 75-76 230/60-50
SUCTION ASSM 90
COMPRESSOR 90 115
RELAY 90 115
START CAPACITOR 90 115
OVERLOAD 90 115
COMPRESSOR 96 230/60
RELAY 96 230/60
START CAPACITOR 96
OVERLOAD 96 230/60
COMPRESSOR 95 230/50
RELAY 95 230/50
START CAPACITOR 95
OVERLOAD 95 230/50
EVAPORATOR COVER
CURTAIN
GROMMET
EVAP FRAME
PUMP HOSE 60HZ MODELS
PUMP HOSE 50HZ MODELS
WATER PUMP 115 VOLT
WATER PUMP 230 VOLT
THERMISTOR SHORT WIRE TO
PUMP BRACKET
SUPPORT
PUMP COVER
INSULATION
MOTOR BARRIER
CLIP
WATER HEADER TOP
GASKET
WATER HEADER PAN
WATER HEADER CLIP
CUBE DEFLECTOR
INSULATION
MASTER SWITCH

$563.09
$20.27
$51.65
$24.75
$568.49
$20.27
$51.65
$24.75
$593.24
$20.27
$51.65
$24.09
$90.94
$694.48
$20.27
$51.65
$24.75
$694.48
$20.27
$51.65
$24.75
$732.19
$20.27
$51.65
$24.75
$13.04
$10.09
$2.82
$19.03
$40.04
$35.88
$356.91
$348.17
$71.42
$5.97
$31.23
$5.97
$2.78
$4.45
$4.57
$11.71
$7.31
$12.45
$4.53
$16.49
$18.76
$8.56



1011514-77
1011514-78
1011514-79
1011514-80
1011514-81
1011514-82
1011514-83
1011514-84
1011514-85
1011514-86
1011514-87
1011514-88
1011514-89
1011514-90
1011514-91
1011514-92
1011514-93
1011514-94
1011514-96
1011514-97
1011514-98
1011514-99
1011515-01
1011515-02
1011515-03
1011515-04
1011515-06
1011515-07
1011515-08
1011515-11
1011515-12
1011515-14
1011515-15
1011515-16
1011515-17
1011515-19
1011515-20
1011515-22
1011515-23
1011515-25
1011517-10
1011517-11
1011517-12
1011517-13
1011517-14
1011517-15
1011517-16

BIN THERMOSTAT
TRANSFORMER 230 TO 12
CONTROLLER
FUSE BLOCK 50 HZ ONLY
FUSE 50 HZ ONLY
WIRE HARNESS (FITS ALL)
POWER CORD 115V
POWER CORD (230/50)
POWER CORD (230/60)
BIN THERMOSTATIC TUBE 20
CHASSIS COVER 15 INCH
CHASSIS COVER 20 INCH
HOSE REQUIRES 22 INCHES
INLET WATER SOL. VALVE
INLET WATER SOL. VALVE
BRACKET
ADAPTER FOR 230 VOLT
DRAIN HOSE
ELBOW 230 VOLT MACHINES
SCREW
CARTON HISU090
SIDE PAD/CORNER POST
BIN ASSEMBLY (BOX ONLY)
LEG SUPPORT
DOOR/SHIELD ASSEMBLY
BIN DOOR (LESS GASKET)
SKID
CARTON
SCREW #10X1/2 PH SS
SCREW #10X1/2 TRUSS HD
BOLT 5/8-11X1-1/4 (BIN
LEG SET
ICE DEFLECTOR DRIP
GASKET 1/8X1/2X30 (DRIP
GASKET 1/4X1X75.25 (BIN
DRIP SHIELD BRACE
BIN DOOR GASKET (45
HINGE BRACKET RIGHT HAND
HINGE BRACKET LEFT HAND
DRIP SHIELD BRACE SCREW
INSPECTION WINDOW
FRAME ASSEMBLY LOWER
DOOR OUTER LIFT 28 INCH
HINGE RH DOOR MOUNT
HINGE LH DOOR MOUNT
ICE GATE 24 INCH
ICE GATE 24 INCH NO

$56.55
$48.01
$185.99
$7.76
$2.78
$80.47
$21.92
$60.71
$84.60
$12.24
$66.58
$71.02
$123.97
$61.71
$80.89
$5.48
$19.60
$21.77
$13.87
$2.78
$39.70
$12.87
$847.47
$36.04
$267.27
$68.10
$71.93
$64.03
$2.78
$2.78
$2.78
$52.73
$68.10
$3.54
$6.41
$25.34
$2.78
$18.76
$18.76
$2.78
$424.17
$5,703.19
$1,290.63
$152.65
$152.65
$719.48
$664.42



1011517-17 CATCH ICE GATE $152.65
1011517-18 HINGE BRACKET BIN MOUNT $126.49
1011517-19 DRAIN ASSEMBLY PLASTIC $313.93
1011517-20 LEGS 6 INCH STAINLESS $874.38
1011517-21 LEGS 6 INCH STAINLESS $747.46
1011517-22 SHOVEL ICE (PLASTIC) $341.00
1011517-23 BRACKET ICE SHOVEL $203.00
1011517-24 PADDLE ICE 46.5 INCH $191.00
1011517-25 KIT TOP REPLACEMENT B700 $2,201.63
1011517-26 BINTOP FILLER PANEL $249.15
1011517-27 GASKET FOAM RUBBER 25FT $267.34
1011517-28 SEALANT RTV 4.7 OZ TUBE $83.06
1011518-10 INSPECTION WINDOW $436.03
1011518-12 DOOR OUTER LIFT 45 INCH $1,905.47
1011518-13 ICE GATE 40 INCH $1,072.62
1011518-14 ICE GATE 40 INCH NO $1,038.16
1011518-15 KIT TOP REPLACEMENT $2,417.65
1011518-16 BINTOP FILLER PANEL $290.68
1011520-10 KIT TOP REPLACEMENT $2,819.04
1011520-11 KIT TOP REPLACEMENT $2,152.67
1011520-12 KIT TOP REPLACEMENT $2,035.22
101-CUB-102186 RELAY $8.35
101-EMB-2252347 CAPACITOR -230/50/1 $46.76
101-EMB-2319069 PROTECTOR -230/50/1 $18.84
101-EMB-2334116 RELAY -230/50/1 $22.00
1051020-02 KIT DISP BIN LEVEL 30 $237.26
1051039-01 YKIT BEARING F-1000 $93.92
1051039-02 KIT BEARING F-250-800 $102.03
1051068-03 Z KIT AUGER MTR/PUL $506.56
1051068-07 KIT AUGER MTR/PUL FMF110 $574.91
1051068-09 KIT AUGER MTR/PUL MF200 $1,114.59
1051111-01 KIT FLAKER EVAP 3 IN $432.33
1051111-02 Y KIT FLAKER EVAP 2.5 IN $377.67
1051124-01 KIT REMOTE LINE SET FITT $167.06
1051134-01 KIT BIN LEVEL ICE22 $151.28
1051137-01 ZKIT LAC REMOVAL VRC $12.68
1051138-01 KIT LAC INSTALLATION VRC $559.37
1051139-01 KIT LAC REMOVAL VRC2061 $11.69
1051145-01 KIT ICEU300 TROUGH BRKT $183.73
1051154-01 KIT BIN DEFLECTOR BRKT $15.21
1051158-01 KIT FAN CONTROL UPGRADE $327.20
1051160-01 KIT BIN CONTROL ICE1506 $211.14
1051163-01 KIT GEMD270A DECALS $60.04
1051165-01 KIT BIN HINGE REPL $382.64
1051166-01 KIT ICE LEVEL SENSOR $29.74
1051168-01 KIT FTNG ADPTR ICEU A $143.24
1051169-01 KIT FTNG ADPTR MODULAR A $148.77



1051170-01
1051171-01
1051175-01
1051176-01
1051185-01
1051186-01
1051187-01
1051188-01
1051189-01
1051190-01
1051192-01
1051197-01
1051198-01
1051198-02
1051208-01
1051209-01
1051209-02
1051209-03
1051209-04
1051209-05
1051209-07
1051210-01A
1051210-02A
1051210-03A
1051210-05A
1051210-07A
1051217-01
1051220-01
1051221-01
1051222-01
1051222-02
1051222-03
1051224-01
1051517-29
1051517-30
18008736-04
2021494-01
2021613-01
2021644-01
2021646-01
2021665-01
2021673-01
2021675-01
2021677-01
2021678-01
2021679-01
2021680-01

KIT FTNG ADPTR ICEU W

KIT FTNG ADPTR MODULAR W

KIT COMP REPLACE
KIT COMP REPLACE
KIT BIN STAT ICEU150/220
KIT BIN STAT ICEU300
KIT COMP REPLACE
KIT COMP REPLACE
KIT COMPRESSOR SERVICE
KIT COMP REPLACE ICEO605
KIT BARREL AND SLEEVE 10
KIT PURGE VALVE
KIT TOP DISCH CONV 60HZ
KIT TOP DISCH CONV 50HZ
KIT PURGE SWITCH
KIT EM&S FAN MOTOR
KIT EM&S FAN MOTOR
KIT EM&S FAN MOTOR
KIT EM&S FAN MOTOR
KIT EM&S FAN MOTOR
KIT EM&S FAN MOTOR
KIT HARVEST 115V 160DEG
KIT HARVEST 230V 160DEG
KIT HARVEST 230V DETENT
KIT HARVEST 115V 60DEG
KIT HARVEST 230V 60DEG
KIT COMPRESSOR SERVICE
KIT BREAKER GEM
KIT BREAKER MFI
KIT GRILL RCA/RCN-1001,
KIT GRILL RCA/RCN-2061;
KIT GRILL RCA/RCN-3061;
KIT FLOAT ASSEMBLY
BRACKET PADDLE
LEGS 10 INCH SET 4
FAN MOTOR
YPANEL ASSY TOP B25PPS
SHROUD ASSY FAN ICE525
BASE ASSY ICEU300
PNL REAR ASSY STUD U300
PANEL ASSY DIVIDER BASE
BASE ASSY ICEU150/220
PANEL ASSY REAR ICEU220
PANEL ASSY FRAME LH 30S
PANEL ASSY FRAME RH 30S
PANEL ASSY FRAME RH 30T
PANEL ASSY FRAME LH 30T

$228.45
$234.13
$1,426.16
$1,583.27
$176.16
$189.39
$2,133.50
$1,813.16
$1,848.95
$1,687.11
$41.87
$113.09
$383.55
$717.47
$65.36
$401.02
$392.14
$413.07
$398.58
$396.12
$396.12
$195.87
$213.86
$213.86
$195.87
$213.86
$1,502.10
$1,017.39
$1,029.44
$150.00
$195.00
$175.00
$87.24
$90.30
$931.91
$223.32
$604.77
$63.79
$160.02
$229.24
$439.03
$129.83
$183.13
$124.66
$126.61
$143.17
$145.36



2021681-01
2021682-01
2021685-01S
2021686-01
2021690-01
2021701-01S
2021703-01S
2021704-01S
2021711-01
2021712-01
2021723-01S
2021730-01S
2021751-01
2021756-01
2021759-01
2021769-01
2021770-01
2021780-01
2021781-01
2021784-01
2021785-01
2021786-01
2021786-02
2021789-01
2021804-01S
2031302-01
2031302-02
2031303-16S
2031303-97
2031310-03S
2031453-01S
2031474-01S
2031475-01S
2031483-01S
2031483-02
2031504-01S
2031508-01S
2031509-01S
2031511-01S
2031511-02S
2031511-03S
2031511-04S
2031511-05S
2031511-06S
2031511-07S
2031515-01S
2031518-01

PANEL ASSY FRAME RH 48
PANEL ASSY FRAME LH 48
BIN-CONTROL ASSY
BIN-CONTROL ASSY
PANEL ASSY FR FRAME 22
ASSY FRONT BRACE
BRACKET ASSY UC150/220
BRKT ASSY UC300 BIN STAT
ASSY FRONT FRAME 22 IN
ASSY REAR PANEL 22 IN
DIVIDER BASE
TOP COVER ASSEMBLY
ASSY BASE 1506T
FAN SHROUD WELD ASSY
PUMP BRACKET ASSY
PANEL BASE 15 ASSY
PANEL BACK 15 ASSY
ASSY RIGHT SIDE
ASSY LEFT SIDE FRAMEWORK
ASSY FRONT LEFT BRACE
ASSY FRONT RIGHT BRACE
ASSY FRONT LEFT CORNER
ASSY FRONT RIGHT CORNER
BASE ASSY REMOTE
MOTOR COVER ASSY
BRACKET ASSY PIVOT LH
BRACKET ASSY PIVOT RH
DOOR/SHIELD ASSY B25
DOOR ASSY B-25 BLACK
CHANNEL ASSY LEG B-40P-A
LEG SUPPORT ASSY B25
Y PANEL ASSY BOT FRONT
ZPANEL ASSY FRONT W/L
PANEL ASSY FRONT SS ICE
PANEL ASSY FRT SS 80-100
PANEL ASSY R/H SIDE W/LO
PANEL ASSY RH AIR
PANEL ASSY LH AIR
PANEL ASSY FRONT 30
PANEL ASSY FRONT 30T
PANEL ASSY FRONT 48
PANEL ASSY FRONT 22
PANEL ASSY FRONT TOR 30
PANEL ASSY FRONT TOR 30T
PANEL ASSY FRONT TOR 48
PANEL ASSY FRONT MFI/GEM
DEFLECTOR WELD ASSY

$145.18
$139.30
$94.59
$96.87
$113.09
$97.27
$80.71
$105.74
$141.18
$76.72
$333.82
$220.99
$200.88
$62.17
$67.28
$173.47
$99.61
$54.85
$62.10
$41.69
$41.69
$32.72
$29.40
$104.52
$53.95
$34.69
$34.69
$208.73
$310.78
$81.42
$44.71
$139.67
$127.48
$272.56
$295.75
$142.84
$119.04
$186.72
$333.48
$405.66
$484.65
$253.93
$343.15
$422.52
$501.49
$144.15
$70.64



2031519-01S
2031520-02S
2031527-01S
2031528-01S
2031528-025
2031529-01S
2031530-015
2031531-01S
2031531-025
2031537-01
2031539-01
2031540-01
2031541-01
2031542-01
2031544-01
2041338-01
2041338-02
2041947-01S
2041982-01S
2041983-01
2041987-01S
2042029-01
2042029-02
2042030-01
2042030-02
2042031-01
2042031-02
2042052-01
2042059-01
2042065-01
2042069-01
2051028-01S
2051029-01S
2051148-81A
2051148-82A
2051156-81A
2051156-82A
2051159-01S
2051167-91S
2051171-91S
2051172-91S
2051222-01S
2051222-02S
2051231-01
2051231-01S
2051231-025
2051232-81A

FRONT PANEL ASSY MFI/GEM
FRONT PANEL ASSEMBLY
FRONT PANEL ASSY 1506R

PANEL ASSY FRONT MFI/GEM

PANEL ASSY FRONT MFI/GEM

FRONT PANEL ASSY MFI/GEM
ASSY FRONT PANEL 1506T

ASSY LH SIDE PANEL 1506T
ASSY RH SIDE PANEL 1506T
TOP ASSY 15IN
TOP ASSY 20IN
ASSY FRONT PANEL 30IN
PANEL ASSY FRONT 15IN
PANEL ASSY FRONT 22IN
ASSY FRONT PANEL 30IN
TUBE WATER DIST LH ASSY
TUBE WATER DIST RH ASSY
TUBE ASSY HEAT EXCH A/W
TUBE ASSY TXV DUAL EVAP
ASSY HOT GAS VALVE
TUBE ASSY TXV HOT GAS
HOT GAS VALVE ASSY
HOT GAS VALVE ASSY
CONDENSER/DRIER ASSY
CONDENSER/DRIER ASSY
ASSY HEAT EXCHANGE
ASSY HEAT EXCHANGE
SERVICE LINE
ASSY DRIER REMOTE
DRIER ASSY REMOTE
ASSY RECEIVER
HOUSING ASSY LOWER BRG
ZHOUSING ASSY LOWER BRG
EVAP ASSY MED LH FU W/ A

EVAP ASSY MED LH HA W/ A
EVAP ASSY SM FU W/ AG
EVAP ASSY SM HA W/ AG

YHOUSING ASSY UPPER BRG
Y BARREL ASSY NON-PLTD

Y BARREL ASSY UN-PL

Z EVAPORATOR ASSY NON
EVAPORATOR ASSY FC 0320
EVAPORATOR ASSY HC 0320
EVAPORATOR ASSY FU ICEU
EVAPORATOR ASSY FC 200
EVAPORATOR ASSY HC 200

EVAP ASSY MED RH FULL

$136.23
$377.24
$240.11
$201.37
$203.19
$126.06
$301.75
$257.42
$257.42
$321.22
$189.41
$222.85
$71.78
$79.82
$116.87
$49.95
$49.95
$194.00
$160.05
$111.13
$483.96
$144.01
$166.40
$140.09
$154.13
$194.80
$194.80
$16.02
$45.50
$45.79
$795.46
$312.61
$538.29
$1,291.44
$1,943.85
$1,307.38
$1,428.75
$405.10
$858.53
$756.59
$2,432.58
$1,148.08
$1,304.37
$712.04
$1,122.82
$1,298.77
$1,216.72



2051232-82A
2051237-81A
2051237-82A
2051238-81A
2051238-82A
2051250-81A
2051250-82A
2051251-81A
2051251-82A
2051260-01A
2051261-01A
2051262-01A
2051281-81A
2051281-82A
2051281-83A
2051283-81A
2051293-01
2051298-01
2051298-02
2051298-03
2051298-04
2051298-05
2051298-06
2051298-07
2051298-08
2061471-03S
2062061-02S
2062084-01S
2062327-01S
2062330-01
2062331-01
2062332-02
2062336-01
2062336-02
2062336-03
2062336-04
2081044-01
2081044-02
2081044-03
2081044-04
2081044-05
2081044-06
2091151-01S
2091151-02S
2091204-01S
2091208-015
2091214-01S

EVAP ASSY MED RH HALF
EVAP ASSY LH FC C140
EVAP ASSY LH HC C140
EVAP ASSY RH FC C140
EVAP ASSY RH HC C140

EVAP ASSY LG LHF SERVICE
EVAP ASSY LG LHH SERVICE
EVAP ASSY LG RHF SERVICE
EVAP ASSY LG RHH SERVICE
EVAP ASSY SERV ICEO606HN
EVAP SERV ICE10/18/21HN
EVAP SERV LH ICE18/21HN
EVAP ASSY DUAL FULL CUBE
EVAP ASSY DUAL HALF CUBE
EVAP ASSY DUAL HALF CUBE
EVAP ASSY GRANDE CUBE
EVAP ASSY CIU
EVAPORATOR ASSY
EVAPORATOR ASSY
EVAPORATOR ASSY (FULL)
EVAPORATOR ASSY (HALF)
EVAPORATOR ASSY
EVAPORATOR ASSY
EVAPORATOR ASSY
EVAPORATOR ASSY
SWITCH ASSY BIN CTRL B
SWITCH ASSY CURTAIN
CONTROL BOX ASSY KIT
HARVEST ASSIST ICE1406
FAN SHROUD ASSY CIU
PUMP ASSY CIU
ASSY CONTROL BOARD BOX
WATER PUMP ASSY
WATER PUMP ASSY
WATER PUMP ASSY
WATER PUMP ASSY
FREEZER SHORT FLAKER
FREEZER SHORT NUGGET
FREEZER SHORT FLAKER
FREEZER SHORT NUGGET
FREEZER TALL FLAKER 230V
FREEZER TALL NUGGET 230V
CONDENSER ASSY WATER

CONDENSER ASSY WATER C40

ACCUMULATOR ASSY ICES00R

WATER-COND ASSY 800/1000

CONDENSER ASSY WATER

$1,484.73
$2,097.66
$2,307.92
$1,605.54
$2,307.92
$2,022.83
$2,337.70
$1,806.42
$2,093.64
$1,484.81
$2,049.38
$1,868.96
$1,643.83
$2,002.44
$1,889.10
$1,905.05
$524.19
$1,342.11
$1,431.63
$1,781.13
$1,974.43
$2,414.52
$2,696.10
$2,015.94
$2,222.03
$49.95
$123.48
$415.58
$266.00
$205.94
$478.85
$991.00
$328.55
$323.62
$313.26
$306.27
$4,912.59
$4,899.29
$4,873.40
$4,824.40
$5,168.89
$5,194.69
$1,082.18
$980.05
$286.03
$1,279.78
$1,070.79



2091223-01S
2101151-01S
2101252-01S
2101262-01S
2101280-01S
2101285-01S
2101285-025
2101330-01S
2101355-03S
2101355-04s
2101358-01S
2101359-02S
2101363-01S
2101363-02S
2101387-01S
2101399-01S
2101400-01S
2101400-03S
2101402-01S
2101416-01S
2101416-02S
2101417-01S
2101417-02S
2101417-03S
2101419-01S
2101419-02S
2101419-03S
2101421-01S
2101425-01S
2101425-03S
2101425-04S
2101425-05S
2101426-01S
2101428-03S
2101429-01S
2101430-01S
2101431-01S
2101431-02S
2101434-01S
2101434-03S
2101436-01S
2101452-01S
2101452-02S
2101452-03S
2101463-02S
2101465-01S
2101473-03

CONDENSER ASSY WATER
TROUGH ASSY UNDERCOUNTER
DEFLECTOR/SHIELD ASSY
DOOR ASSY BIN B25PPS
PANEL ASSY TOP DISCH ICE
30 PANEL TOP ASSY SERV
PANEL ASSY TOP CCM30
PANEL ASSY SIDE LH ICE22
CURTAIN ASSY RH SERV
CURTAIN ASSY LH SERV
WATER CONNECTION ASSY
ACCUMULATOR ASSY 2100R
PANEL ASSY SIDE RH 1506
PANEL ASSY SIDE LH 1506
CURTAIN ASSY SPLASH 22
THROUGH ASSY ICEU300
BIN ASSY ICEU300
BIN ASSY CCU300
BIN TOP ASSY ICEU300
CURTAIN ASSY SPLASH RH
CURTAIN ASSY SPLASH LH
DOOR ASSY BIN ICEU15/220
DOOR ASSY BIN ICE
DOOR ASSY BIN CCU150/220
BIN ASSY ICEU150/220
BIN ASSY TORREY MHCD
BIN ASSY CCU150/220
ACCUMULATOR ASSY
PANEL ASSY TOP 30
PANEL ASSY TOP REMOTE
TOP PANEL ASSY TOP DISCH
TOP PANEL ASSY 30 IN AIR
PANEL ASSY TOP
ZPANEL ASSY RH
PANEL ASSY TOP ICEU300
PANEL ASSY TOP 48
PANEL ASSY TOP 22
TOP PANEL ASSEMBLY
DOOR ASSY ICEU300 BLK
DOOR ASSY CCU0300 BLK
PANEL ASSY LH BLK
DRIP-SHIELD ASSY 30
DRIP-SHIELD ASSY 48
DRIP-SHIELD ASSY 22
30 INCH BIN DOOR ASSY
CURTAIN ASSEMBLY
DRAIN FITTING ASSY CIU

$1,566.78

$140.40
$196.09
$209.04
$354.24
$288.58
$123.12
$224.91
$139.79
$139.46
$865.18
$338.39
$181.10
$181.10
$103.79
$139.29
$930.79
$702.87
$325.01
$144.42
$144.42
$125.53
$132.01
$109.39
$730.42
$747.27
$738.72
$329.10
$240.85
$245.63
$164.41
$247.30
$180.90
$72.99
$214.10
$303.26
$225.91
$260.06
$165.59
$216.64
$141.52
$253.97
$285.29
$113.65
$204.79
$142.51
$31.19



2101473-04
2101483-01S
2101483-025
2101483-03S
2101483-04S
2101483-05S
2101488-01S
2101488-02S

2101489-01

2101493-01

2101495-01

2101496-02

2101500-01

281822-00
281832-00

3011011-01

3012149-01

3012608-01

3012741-01

3012742-01

3012749-01

3012758-01

3012877-01

3013107-01

3013110-01

3013111-01

3013112-01

3013156-01

3013217-01

3013222-01

3013223-01

3013224-01

3013225-01

3013227-01

3013229-01

3013230-01

3013232-01

3013244-01

3013252-01

3013254-01

3013276-01

3013277-01

3013303-01

3013304-01

3013306-01

3013325-01

3013328-01

DRAIN FITTING ASSY CIU
PANEL ASSY RH
PANEL ASSY RH
PANEL ASSY RH
PANEL ASSY LH
PANEL ASSY LH
HOSE KIT ASSY
HOSE KIT ASSY

BIN ASSY 15 IN CIU
SUMP ASSY CIU
PANEL SIDE ASSY RH AIR
PANEL TOP ASSY 30IN AIR
ASSY INLET/OUTLET
PLASTIC HOSE
TUBE
Z CAP EVAPORATOR
PANEL-REAR ACCESS
STRAP CONNECTING B40-100
PANEL UTILITY EC1006A
PANEL UTILITY EC806A
YBRACKET BIN DOOR B25PPS
YTOP BIN B25PPS
YBRACKET WTR PUMP ICE 48
PANEL ACCESS ICE325/525
SHROUD FAN ICE525A
SHROUD FAN ICE325A
FAN SHROUD

PANEL ACCESS ICE1506

SHROUD FAN ICEU300A
PANEL TOP VRC

PANEL FRONT VRC
PANEL REAR VRC
PANEL CENTER VRC
LEG VRC
COVER JUNCTION BOX VRC
PANEL ACCESS COVER TOP
PANEL COVER VRC
YDRIP-SHIELD HARV ASSIST
FAN BRACKET ICE520/320
SHROUD FAN ICEU150/220
PANEL FRAME REAR RH 1506
PANEL FRAME REAR LH 1506
PANEL TOP VRC5061
PANEL CENTER VRC5061
BRACE LEG VRC5061
PANEL FRAME RH 30 SHORT
PANEL FRAME RH 30 TALL

$34.62
$189.17
$226.60
$219.42
$237.21
$256.47
$56.30
$79.30
$604.10
$335.53
$97.39
$127.89
$61.74
$46.32
$66.59
$22.25
$16.42
$15.21
$47.05
$47.05
$88.96
$210.37
$43.47
$42.87
$45.29
$37.61
$57.06
$28.22
$49.64
$70.74
$90.51
$95.08
$40.13
$38.62
$13.91
$25.26
$66.22
$30.49
$54.90
$43.17
$58.51
$59.09
$91.96
$50.02
$33.54
$113.94
$134.63



3013333-01
3013352-01
3013355-01
3013360-01
3013360-02
3013372-01
3013374-01
3013379-01
3013380-01
3013382-01
3013383-01
3013384-01
3013385-01
3013392-01
3013397-01
3013398-01
3013445-01
3013448-01
3013472-01
3013474-01
3013490-01
3013491-01
3013560-01
3013563-01
3013586-01
3013588-01
3013589-01
3013592-01
3013593-01
3013600-01
3013633-01
3013639-01
3013665-01
3013667-02
3013697-01
3013697-02
3021232-02
3021359-02
3021403-03
3021594-02
3021699-01
3021740-01
3021742-01
3021773-01
3021775-01
3021831-01
3021862-01

PANEL REAR FRAME 22
PANEL FRONT FRAME 22
DEFLECTORICE 22
BRACKET BIN DOOR RH
BRACKET BIN DOOR LH
FAN-SHROUD
PLATE BACKING
FAN-SHROUD
PANEL BASE
JUNCTION-BOX
LEG ADJUSTABLE GRC
SUPPORT LEGS GRC
BRACKET MOTOR MOUNT
PANEL REAR
STRAP CONNECTING
PANEL BARRIER
WATER FLOAT BRACKET
PANEL FRONT FRAME 22 IN
FAN SHROUD TOP DISCHARGE
PURGE VALVE BRACKET
DEFLECTORICE 30 IN
PANEL DIVIDER BASE DUAL
1506 AIR BOX BOTTOM
SHROUD FAN 1506T
FAN-SHROUD
PANEL BASE 15 INCH
PANEL BACK 15 INCH
PANEL BASE 20 INCH
PANEL BACK 20 INCH
SHROUD FAN
PANEL REAR ACCESS 20IN
SHROUD FAN
BASE CONDENSOR RECEIVER
DEFLECTOR ICE KCFS9
SHROUD FAN TALL
SHROUD FAN TALL
Y PANEL TOP LH FRONT SS
Y PANEL LH ACCESS SS
PANEL FRONT B55 ALCOA
Y PANEL CABINET LH SIDE
PANEL BIN CLOSURE
PANEL REAR EC800/1000 WR
PANEL REAR EC200-600
YPANEL SIDE L/H 800-1000
ZPANEL SIDE RH 800-100 W
PANEL SIDE W/ LOUV 520
PANEL SIDE RH ICE22W

$72.80
$91.95
$31.04
$13.37
$13.37
$41.23
$20.80
$55.79
$56.88
$25.22
$32.09
$23.30
$35.64
$85.38
$8.17
$10.94
$21.71
$126.56
$32.81
$8.64
$80.29
$248.76
$144.15
$79.32
$45.20
$76.59
$47.19
$84.75
§57.11
$26.43
$18.23
$33.30
$33.60
$30.80
$61.59
$64.31
$57.16
$99.68
$144.83
$304.32
$134.65
$66.28
$51.48
$181.44
$105.02
$194.52
$103.98



3021874-01
3021883-01
3021893-01
3021894-01
3021894-02
3021904-01
3021914-01
3021915-01
3021920-01
3021922-01
3021923-01
3021925-01
3021926-01
3021929-01
3021931-01
3021933-05
3021933-06
3021933-07
3021933-08
3021934-01
3021942-01
3021943-01
3021950-01
3021951-01
3021952-01
3021952-02
3021953-01
3021954-01
3021955-01
3021956-01
3021957-01
3021959-01
3021960-01
3021961-01
3021961-02
3021962-01
3021963-02
3021965-02
3021966-02
3021967-02
3021968-02
3021969-02
3021970-02
3021976-02
3021987-01
3021987-02
3021988-01

PANEL SIDE RH/LH ICEU220
PANEL SIDE RH/LH ICEU300
PANEL REAR TOP DISCHARGE
ZSTRIP TRIM TOP LH U300
ZSTRIP TRIM TOP RH U300
PANEL TOP AIR SS SBUX
PANEL R/H ICE250-600 TRW
PANEL L/H ICE250-600 AWR
PANEL REAR ICE1506
PANEL RH W/R
PANEL LH
PANEL SIDE RH
PANEL REAR
PANEL SIDE RH 1400W/R
TOP COVER ICE1506
PANEL FRONT 30 ALCOA
PANEL FRONT 48 ALCOA
PANEL FRONT 30 TALL
PANEL FRONT 22 ALCOA
PANEL SIDE LH 1400W/R
PANEL REAR COVER
PANEL REAR 22W
PANEL END LEFT
PANEL TOP
PANEL END RIGHT
PANEL END RIGHT
PANEL SIDE SOLID
PANEL TOP GRC
PANEL FRONT GRC
PANEL REAR GRC
PANEL LEFT GRC
PANEL RIGHT
PANEL FRONT SOLID
PANEL FRONT LOUVERED
PANEL FRONT
PANEL REAR 22 IN TALL
PANEL FRONT 22 IN TALL
PANEL SIDE 20 IN ALCOA
PANEL RH SIDE 20 IN
PANEL SIDE 22 IN ALCOA
PANEL RH SIDE 23 IN
PANEL SIDE 26 IN ALCOA
PANEL SIDE 26 IN ALCOA
PANEL FRONT 1506A
PANEL LH SIDE 1506T
SIDE PANEL RH (ICE1506A)
TOP COVER (ICE1506A)

$53.30
$58.03
$57.62
$25.76
$25.76
$121.82
$89.33
$101.54
$51.32
$100.01
$99.95
$120.50
$86.02
$93.84
$127.02
$102.57
$179.87
$164.84
$91.62
$93.84
$17.60
$40.66
$289.58
$97.87
$289.58
$58.56
$78.88
$59.88
$32.58
$31.06
$43.82
$45.72
$107.82
$115.75
$98.91
$64.17
$90.09
$66.97
$66.61
$74.45
$74.47
$83.67
$82.92
$211.49
$139.98
$139.98
$141.72



3021989-01
3021992-01
3021996-01
3021997-01
3022002-01
3022003-01
3022004-01
3022005-01
3022005-02
3022005-03
3022007-02
3022007-03
3022007-04
3022007-05
3022007-06
3022010-01
3022012-01
3022012-02
3022012-03
3022012-04
3022013-01
3022014-01
3022016-02
3022016-03
3022018-01
3022019-02
3022020-01
3022020-02
3022021-01
3032014-01S
3032819-01S
3051197-03S
3051197-04S
3051198-01S
3051222-18S
3051222-20S
3051231-04S
3051233-02S
3051238-01S
3051238-02S
3991045-01S
6051005-01S
6051041-03
6051059-01
6051062-01
6051065-01
6051073-01

REAR PANEL (ICE1506A)
PANEL REAR TOP 1506T
PANEL LEFT SIDE
PANEL RIGHT SIDE
PANEL TOP
BASE
PANEL SIDE
PANEL SMALL CONTROL
PANEL MEDIUM CONTROL
PANEL LARGE CONTROL
PANEL LH SIDE
PANEL RH SIDE W/R
PANEL RH SIDE AIR
PANEL LH SIDE AIR
PANEL RH SIDE W/R
LEG REMOTE CONDENSER
PANEL TOP 22IN W/R
PANEL TOP 22IN A
PANEL TOP 30IN W/R
PANEL TOP 30IN A
PANEL FRONT CENTER 30IN
PANEL FRONT CORNER
PANEL LH SIDE
PANEL RH SIDE
PANEL FRONT CORNER TALL*
PANEL FRONT CENTER 30IN
PANEL FRONT CENTER 22IN
PANEL FRONT CENTER 22IN
PANEL FRONT CENTER 22IN
TUBE BIN LEVEL CONTROL
TUBE BIN CONTROL ICEU
CURTAIN SPLASH MED W/AG
CURTAIN SPLASH LG W/AG
GASKET ICE CHUTE MOD
TUBE CTLPVC9/16 ID
TUBE CTL PVC 9/16 ID
SPLASH CURTAIN LH W/AG
SPLASH CURTAIN 320 W/AG
CURTAIN ASSY RH
CURTAIN ASSY LH
YGASKET INNER DOWN CHUTE
SEALANT SILICONE CL NSF
LUBRICANT WORM GEAR
POWDER AGION ADDITIVE
GREASE BEARING FOOD GRAD
RUST PREVENTIVE 7CC TUBE
OIL, GEAR REDUCER 1607

$65.35
$36.40
$92.67
$92.67
$82.61
$84.81
$88.57
$82.91
$102.30
$88.71
$64.46
$64.46
$84.67
§77.10
§77.10
$24.62
$57.40
$57.40
$96.51
$96.51
$58.39
$38.73
$89.67
$89.67
$40.97
$83.83
$56.01
$60.28
$49.47
$90.09
$100.24
$124.33
$171.07
$112.82
$4.28
$8.78
$101.69
$81.38
$116.09
$116.09
$37.03
$44.94
$337.53
$391.76
$26.80
$4.15
$41.09



6081004-05
6081004-06
6081004-07
6081004-08
6081036-01
6081037-01
6081040-01
9021001-04

9021008-05p

9021010-04P
9021010-05P
9021028-01P
9021088-01
9021089-01
9021094-01
9021096-01
9021101-01
9021102-01
9021103-01
9021109-02
9021110-02
9021112-01
9021113-01P
9021116-01P
9021118-01
9021119-01P
9021120-01P
9021121-01
9021124-01
9021125-01
9021126-01
9021130-01
9021131-01
9021140-01
9021141-01
9021142-01
9021143-01
9021144-01
9021145-01
9021146-01
9031001-01P
9031001-02p
9031001-04p
9031001-16P
9031001-19P
9031001-33P
9031001-36

STRIP GASKET 3/16 X 1/2
STRIP GASKET 1/4 X 1
STRIP GASKET 1/8 X 1/2
STRIP GASKET 1/8 X 1.00
GASKET BIN DOOR
GASKET BIN
GASKET
LEG SET 6 IN PLASTIC FIN
10PK CLAMP CABLE 1/4
25PK CLAMP HOSE SNP-18
10PK CLAMP HOSE SNP-19
10PK KEY SQUARE 3/16 X
ZCASTER SWIVEL 5 DIA
Z HANDLE RECESSED
ZCASTER RIGID 5 DIA
BAND S/S .18 X 14
CLAMP TUBE 1/4 DIA S/S
PROBE SINGLE LENGTH
STRAP TXV BULB
SLEEVE FRICTION TRIPLE
PIN HINGE TRIPLE
CATCH
10PK CLIP HOSEON
10PK CLIP HOSEON
CLAMP
10PK CLAMP WIRE
10PK STAND-OFF
STRIKE
JUNCTION-BOX
JUNCTION-BOX (OPEN)
CLIP TUBE MOUNTING
COVER JUNCTION BOX
JUNCTION BOX
COLLAR BOTTOM
RING WATER SEAL
WATER SEAL
CLIP THERMISTOR 1/4
CLAMP HOSE
CLAMP TUBE 3/8 VINYL
COVER JUNCTION BOX
Y 10PK SCREW HEX HD
10PK SCREW HH 1/4-20X3/4
10PK SCREW HH 5/16-18X1
10PK SCREW HH 1/2-13X1
10PK SCREW HH 1/4-20X1
10PK SCREW HH 1/2-13X2
SCREW HH 5/16-18X3/4 SS

$3.11
$8.39
$8.06
$2.87
§7.25
$5.76
$8.45
$131.76
$2.78
$49.86
$20.45
$10.79
$37.71
$11.16
$30.57
$4.56
$30.60
$30.72
$9.45
$42.43
$22.09
$5.01
$5.32
$10.13
$2.78
$5.33
$74.97
$2.78
$8.47
$19.85
$2.78
$5.57
$16.86
$§2.51
$11.67
$91.19
$8.12
$1.18
$1.91
$3.38
$28.36
$2.78
$2.78
$7.27
$5.81
$9.81
$0.37



9031001-37P
9031001-40
9031001-41P
9031001-42
9031001-43
9031001-44
9031003-01p
9031003-03P
9031003-05p
9031003-08p
9031003-10p
9031004-01
9031004-02P
9031004-09P
9031004-19P
9031004-31
9031005-02P
9031005-10p
9031005-12P
9031005-15
9031006-04p
9031006-06P
9031006-09P
9031008-02P
9031008-07P
9031008-15P
9031008-40P
9031008-44P
9031008-45P
9031008-46P
9031008-47
9031008-48
9031012-02P
9031019-04P
9031019-08
9031019-11P
9031019-12
9031023-10P
9031023-15P
9031033-03P
9031035-02P
9031042-03P
9031042-07P
9031042-13
9031042-14
9031043-01P
9031045-03P

10PK SCREW HH 1/4-20X1/2
SCREW HH 5/16-18X5/8 STL
10PK SCREW HH 5/16-18X1
SCREW HH 5/16-18X1-1/4
SCREW HH 5/16-18X3
SCREW HH 1/2-13X3/4 STL
10PK WASHER PLAIN 1/4W
10PK WASHER PLAIN #10SS
10PK WASHER PLAIN 1/2
10PK WASHER PLAIN 5/16 W
10PK WASHER PLAIN 1/4 N
ZWASHER SPEC 1 OD NY
10 PK WASHER SPEC 1 OD
Y 10PK WASHER SPEC 1.625
10PK WASHER SPEC RUB .49
WASHER SPECIAL ECO-6166*
10 PK NUT HEX 5/16-18
10PK NUT HEX 3/8-16 STL
10PK NUT HEX 1/2-13 STL
NUT HEX #8-32 BRASS
10PK WASHER LOCK SPLIT
10PK WASHER LOCK SPLIT
10PK WASHER LOCK SPL 1/2
10PK SCREW PHP #8-32X3/8
10PK SCREW PHP #8-32 X
10PK SCREW PHP #10-32 X
10PK SCREW PHP 10-24 X
10PK SCREW PHP 4-40 X
10PK SCREW PHP #4-40X5/8
10PK SCREW PHP 8-32 X
SCREW PHP #8-32X3/16
SCREW PHP #10-24X3/8
10PK NUT SELF RETAIN
10PK SCREW HWH ST
SCREW PHP ST 6-32 X 1/2
10PK SCREW HWH ST
SCREW PHP ST #8X3/8 TRI
10PK SCREW FHP #8-32 X
10PK SCREW FHP 10-32 X
Y 10PK SCREW SET 1/4-20
10PK NUT SPEED U-TYPE
10PK WASHER LOCK #8 EXT
10PK WASHER LOCK 5/16
WASHER LOCK EXT 5/16 SS
WASHER LOCK INT #8 STLS
10PK NUT T 5/16-18
10PK SCREW FHP #8-18 X

$13.59
$2.78
$13.57
$1.53
$0.63
$2.78
$2.78
$2.78
$2.78
$2.78
$2.78
$0.55
$2.78
$96.76
$12.62
$0.12
$2.78
$2.78
$10.76
$2.78
$2.78
$2.78
$2.78
$2.78
$2.78
§7.55
$2.78
$7.59
$2.78
$2.78
$2.78
$0.20
$51.25
$2.78
$0.04
$3.98
$2.78
$2.78
$2.78
$8.30
$20.53
$2.78
$2.78
$0.25
$2.78
$12.30
$11.34



9031045-06P
9031045-07P
9031046-01P
9031046-03P
9031046-11P
9031046-16P
9031046-19P
9031046-20P
9031046-24P
9031046-27P
9031046-29
9031077-04P
9031087-02P
9031093-01P
9031098-02P
9031098-03P
9031098-04P
9031098-05P
9031112-01P
9031113-01P
9031113-02P
9031113-03P
9031113-04P
9031113-09
9031113-14P
9031117-01
9031117-02P
9031118-02P
9031118-03P
9031118-04
9031118-05P
9031119-01P
9031120-01P
9031122-01P
9031122-02P
9031122-03P
9031122-05p
9031131-02P
9031133-02P
9031141-01P
9031148-01P
9031153-01P
9031153-02P
9031153-03P
9031153-06P
9031161-01P
9031162-01

10PK SCREW FHP S/M
10PK SCREW FHP #8 X 1
10PK SCREW HWH #10-16 X
10PK SCREW HWH #8-18 X
10PK SCREW PHP #6-20X3/8
10PK SCREW HWH #8-18 X
10PK SCREW PHP #10-16X
10PK SCREW HWH S/M #8-18
10PK SCREW PHP 10-16 X
10PK SCREW PHP SM #8 X
SCREW PHP SM #6X5/8 SS
10PK RIVNUT #10-32 S/S
10PK NUT RETAIN 1/4-20
STUD CLINCH PLATED
25PK SCREW TR HD #10 X
10PK SCREW TR HD #10 X
10PK SCREWTRHD 10X 1
10PK SCREW TR HD #10X1/2
10PK SCREW HEX HD #8-32
10PK SCREW PHP SM #8-18
10PK SCREW PHP S/M AB
10PK SCREW PHP #10-16 X
10PK SCREW PHP 10-16 X
SCREW PHP #10-16X .75LG
10PK SCREW PHP ST #8X3/4
YSPACER LARGE
10PK SPACER SMALL
10PK NUT LOCK HEX FLAN
10PK NUT LOCK HEX FLAN
NUT LOCK HEX FLA 8-32 SS
10PK NUT LOCK HEX FL
10PK SCREW SHOULDER
10PK NUT TWIN SPEED
10PK THUMBSCREW # 8-32 X
10PK THUMBSCREW 10-32 X
10PK THUMBSCREW 10-32 X
10PK THUMBSCREW 8-32 X
10PK WASHER-RETAINER #8
10PK NUT PUSH ON 3/16
25PK NUT PLASTIC #8-10
10PK STANDOFF CONTROL
10PK STUD PEM
10PK STUD PEM #10-24 X
10PK STUD PEM 1/4-20 X
10PK STUD PEM #3/16 X
10PK WING NUT #10-24 NON
THUMB NUT THREE PRONG

$2.78
$13.05
$7.71
$16.67
$2.78
$13.61
$17.45
$13.18
$8.05
$3.18
$2.78
$44.74
$13.59
$2.78
$11.47
$5.67
$10.71
$58.83
$2.78
$2.78
$2.78
$3.34
$2.78
$2.78
$7.76
$43.61
$116.82
$2.78
$2.78
$5.57
$13.95
$16.53
$7.96
$21.03
$24.21
$27.44
$78.72
$2.78
$11.36
$9.44
$18.43
$27.55
$15.40
$19.48
$16.45
$3.81
$7.37



9031162-01P
9031169-01
9031169-02
9031170-01
9031172-01
9031172-03
9031175-01
9031178-01
9031179-01
9031180-01

9031182-01P
9031189-01
9031191-01
9031192-01
9031213-01
9031213-02
9031220-01
9031224-01
9031230-01
9031231-01
9031232-01
9031233-01
9031234-01
9031236-01
9031237-01
9031239-01
9031240-01
9041002-01
9041004-02
9041010-01
9041051-04
9041055-01
9041056-01
9041059-01
9041087-03
9041087-04
9041087-06
9041091-01
9041092-02
9041095-01

9041095-101
9041097-01
9041098-01
9041098-02
9041100-01
9041101-01
9041102-01

10PK THUMB NUT THREE
SCREW HSH 5/16-18X 3/4
SCREW HSH 5/16-18X3/4
RIVNUT 5/16-18 SS
SCREW HWH 1/4-20X1/2 STL
SCREW HWH 1/4-20X5/8 SS
LOCKNUT CONDUIT
SCREW #10 HWH TEK
SCREW #10 HWH TYPE AB
BOLT LAG 1/4 X 2.00
10PK SCREW HWH
STUD BUTTON
WASHER SAE FLAT 5/8 ZINC
SCREW 5/8-11X1 NYLON HH
SCREW #10-24X5/8 SLT
SCREW SLTHH FLG
NUT PEM SS 10-32
SCREW HWF 10-32X1/4
SCREW HFH #10-32X1/4 SS
SCREW PPH #10-32X3/8 STL
SCREW HFH #8-32X1/4 STL
SCREW HFH #10-32X1/4 STL
SCREW HFH #8-32X3/8 SS
SCREW SLTHH FLG
SCREW PHIL TRUSS
SCREW SLTHH FLG
SCREW PPH #10-24X3/8 STL
Z THERMOSTAT LOW TEMP
THERMOSTAT
YREGULATOR WATER PRESSUR
ZCONTROL PRESS HI CUTOUT
YTHERMOSTAT BIN CONTROL
REGULATOR WATER PRESSURE
REGULATOR WATER PRESS
YTHERMOSTAT HI TEMP 3/8
YTHERMOSTAT HI TEMP 5/8
YTHERMOSTAT HIGH TEMP
CONTROL HI-PRESS 450
CONTROL PUMPDOWN
Z CONTROL PRESSURE HI
Y KIT SERV REPL -01
THERMOSTAT BIN CONTROL
SWITCH HIGH TEMP
SWITCH HIGH TEMP
FAN CONTROL
REGULATOR WATER PRESSURE
CONTROL PUMP DOWN

$78.23
$2.78
$1.29
$2.78
$2.78
$2.78
$2.78
$2.78
$2.78
$2.78
$59.84
$0.07
$2.78
$2.78
$2.78
$0.32
$4.06
$0.74
$0.39
$0.39
$0.16
$0.23
$0.86
$0.22
$1.02
$0.15
$0.44
§75.52
§72.51
$291.05
$134.83
$111.46
$432.89
$280.30
$42.55
$44.38
$42.55
$115.04
$28.18
$118.66
$152.61
$81.81
$41.37
$19.10
$199.83
$276.15
$27.15



9041104-101A

9041105-01
9041105-02
9041105-03
9041105-04
9041105-05
9041105-101
9041106-01
9041106-02
9041108-01
9041108-02
9041109-01
9041110-01
9041111-01
9041112-01
9051001-02P
9051001-03P
9051001-05P
9051001-08P
9051001-09
9051001-09P
9051001-10P
9051001-11P
9051001-13P
9051001-16P
9051001-17
9051002-10P
9051002-16
9051007-01
9051011-01
9051057-01
9051093-01
9051093-03
9051093-07
9051104-02P
9051104-07P
9051104-08P
9051104-17pP
9051126-01
9051127-01
9051127-02
9051135-04
9051135-05
9051136-05
9051136-06
9051136-07
9051136-08

SERVICE KIT LOW PRESSURE
PURGE VALVE 0 DEG 120V
PURGE VALVE 0 DEG 240V
PURGE VALVE 90 DEG 240
PURGE VALVE 180 DEG 120
PURGE VALVE 180 DEG 240
SERVICE KIT PURGE VALVE
SWITCH FAN CYCLE HS300

FAN CYCLE CONTROL HS300
VALVE WATER INLET 120V
VALVE WATER INLET 240V

VALVE INLET DSVP 40 115V

THERMISTOR SET
SWITCH, HIGH PRESSURE
THERMISTOR SUMP Z 10K

10PK BUSHING SNAP
10PK BUSHING SNAP
10PK BUSHING SNAP
10PK BUSHING SNAP
BUSHING SNAP UB-875
10PK BUSHING SNAP UB-875
10PK BUSHING SNAP
10PK BUSHING SNAP
10PK BUSHING SNAP RING
10PK BUSHING SNAP
BUSHING SNAP UB1000
Z 10PK GROMMET 5/16 ID X
GROMMET 1/41D X 1/16 RUB
Z BOOT EVAPORATOR
Z GASKET EVAPORATOR

ROD CONNECTING
Z PANEL DOOR BLACK 32
ZPANEL DOOR BLACK 38
Z PANEL DOOR BLACK 48
10PK PLUG HOLE DP-500
10PK PLUG HOLE DP-375
10PK PLUG HOLE DP-187
10PK PLUG HOLE DP1375

PLUG DRAIN
SCOOP ICE LARGE 82 0Z
SCOOP ICE SMALL 16 0z
WATER-RETURN EVAP W/ AG

SPILLWAY EVAP W/ AGION

PANEL EVAP LH MED W/AG

PANEL EVAP RH MED W/AG
PANEL EVAP LH SM W/AG
PANEL EVAP RH SM W/AG

$196.83
$71.19
§73.25
$81.24
§71.19
§73.25
$17.46
$40.56
$35.69
$61.13
$61.13
$66.70
$44.86
$37.31
$26.09
$2.78
$2.78
$11.70
$2.78
$0.65
$18.56
$12.24
$15.13
$9.24
$12.78
$2.78
$38.83
$2.78
$63.30
$24.34
$21.36
$50.66
$59.30
$67.94
$2.78
$2.78
$2.78
$15.31
$20.73
$39.00
$25.00
$37.36
$66.58
$31.68
$25.62
$14.00
$14.00



9051142-01
9051142-02
9051149-02
9051154-07
9051154-08
9051154-12
9051154-14
9051170-03
9051170-04
9051201-01
9051201-02
9051237-01
9051237-02
9051280-05
9051280-06
9051280-08
9051280-11
9051310-01
9051343-01
9051369-02
9051370-01
9051420-01
9051434-01
9051457-01
9051464-01
9051465-01
9051466-01
9051466-02
9051471-01
9051471-02
9051472-01
9051473-01
9051478-01
9051495-01
9051506-01
9051506-02
9051515-01
9051519-01
9051525-04
9051525-06
9051526-01
9051527-01
9051530-01
9051531-01
9051533-01
9051534-01
9051534-03

TUBE WATER PUMP LONG
TUBE WATER PUMP SHORT
TROUGH WATER ICEU W/ AG
CURTAIN SPLASH SM W/ AG
CURTAIN SPLASH MED W/ AG
CURTAIN SPLASH LG W/ AG
CURTAIN SPLASH C140
PANEL EVAP RH LG W/AG
PANEL EVAP LH LG W/AG
YTROUGH WATER RETURN
YTROUGH WATER RETURN
WASHER TUBE
WASHER TUBE DOUBLE
TUBE PURGE DRAIN EUC200
ZTUBE PURGE DRAIN 48 ICE
TUBE PURGE DRAIN
TUBE PURGE DRAIN
ZDOOR BIN EUC BLACK
DOOR BIN B25 BLACK
ZDOWN-CHUTE MF400/700
ICE-DEFLECTOR/SHIELD B25
ZSEAL MF DOWNCHUTE
YGASKET/SEAL ICE CHUTE
CHUTE LOWER SECTION
PANEL LOUVERED ICE
Y PANEL LOUVER PANEL TOP
YPANEL TOP ICE 30 IN
ZPANEL TOP ICE TOP DISCH
YTUBE WATER PUMP ICE1400
YTUBE WATER PUMP ICE GL
TUBE WATER PUMP ICE MED
PAN WATER ICE1506
WATER-PAN ICE 22
ZPANEL FRONT 22 IN
TUBE EVAP WATER ICE 22
TUBE EVAP WATER ICE0320
YGRILLE FRONT ICEU BLACK
SPACER CAM SWITCH
DOOR BIN BLACK
DOOR BIN BLACK
ZTOP PANEL ICEU300
TROUGH WATER RETURN
GRILLE FRONT LARGE
GRILLE FRONT SMALL
BIN ROTOCAST ICEU150/220
DOOR BIN ICEU220/U150
DOOR BIN CCU150/220

$59.21
$55.49
$97.60
$80.58
$123.14
$169.42
$157.25
$73.99
$73.99
$307.08
$242.93
$10.79
$13.37
$34.57
$22.01
$25.95
$13.00
$107.29
$89.85
$127.74
$61.17
$66.44
$92.53
$258.29
$19.24
$180.72
$131.36
$77.98
§77.71
§77.71
$18.31
$197.41
$128.68
$94.09
$45.36
$45.36
$37.36
$3.79
$58.05
$147.76
$273.00
$101.66
$46.25
$46.25
$541.25
$42.68
$42.27



9051537-01
9051540-03
9051540-04
9051541-01
9051543-01
9051544-01
9051546-01
9051546-02
9051551-01
9051552-01
9051553-01
9051554-01
9051555-01
9051559-01
9051559-02
9051559-03
9051560-01
9051560-02
9051562-01
9051562-02
9051562-03
9051562-04
9051562-05
9051562-06
9051564-01
9051564-03
9051564-04
9051566-01
9051566-02
9051566-03
9051567-01
9051569-01
9051569-02
9051572-01
9051573-01
9051573-02
9051577-01
9051578-01
9051601-01
9051601-02
9051602-01
9051603-01
9051606-01
9051606-02
9051609-01
9051610-01
9051611-01

TROUGH WATER 30 IN
PANEL SIDE EVAP LH C140
PANEL SIDE EVAP RH C140

TUBE PURGE
TUBE PUMP/PURGE
TROUGH WATER 48 IN

TUBE EVAPORATOR ICE1400

TUBE EVAP ICE1800/2100
PANEL TOP CCM 30
PANEL TOP CCM 48
PANEL TOP CCM 22

TUBE WATER EVAP LH
TUBE WATER EVAP RH
DOOR BIN 30 IN
DOOR BIN 48 IN
DOOR BIN 22 IN
CAP END HINGE RH
CAP END HINGE LH
CAP END RH
CAP END LH
CAP END RH 26
CAP END LH 26
CAP END RH 22
CAP END LH 22 IN
PANEL TOP 30 IN
PANEL TOP 30 IN TOP
PANEL TOP 30 IN TOP
DEFLECTORICE 30 IN
DEFLECTOR ICE 48 IN
DEFLECTOR ICE 22 IN
COVER HINGE END CAP
TRIM-STRIP BIN RH
TRIM-STRIP BIN LH
TUBE PURGE 48 IN
CAP CORNER RH
CAP CORNER LH
PANEL TOP 48 IN
PANEL TOP 22 IN
CHUTE LOWER ICE SHORT
CHUTE LOWER ICE TALL
COVER ICE CHUTE
SWEEP ICE
HOSE DRAIN
HOSE OVERFLOW
COLLAR CHUTE FOAM
PLUG RUBBER
WATER SHED

$73.03
$32.35
$32.35
$10.68
$30.48
$150.80
$23.25
$24.16
$120.13
$162.46
$106.80
$26.24
$26.83
$97.20
$117.50
$57.38
$14.94
$14.94
$7.04
$7.04
$8.83
$8.83
$8.93
$8.93
$121.24
$126.01
$130.59
$79.92
$92.05
$36.88
$3.66
$4.98
$4.98
$17.51
$3.66
$3.66
$185.88
$109.36
$52.83
$53.39
$14.90
$13.89
$51.49
$51.49
$29.89
$2.78
$18.97



9051613-01
9051613-02
9051614-01
9051616-01
9051619-01
9051627-01
9051629-01
9051629-02
9051629-03
9051630-01
9051631-01
9051632-01
9051634-01
9051635-01
9051636-01
9051637-01
9051638-01
9051640-01
9051680-01
9051688-01
9051689-01
9051690-01
9051693-01
9051694-01
9051695-01
9051696-01
9051697-01
9051698-01
9051699-01
9051703-01
9051705-01
9051706-01
9051709-01
9051711-01
9051716-01
9051717-01
9051718-01
9051720-01
9051721-01
9051722-01
9051723-01
9051725-01
9051725-02
9051726-01
9051726-02
9051727-01
9051727-02

COLLAR INSULATION
COLLAR INSULATION NUG
GASKET CHUTE
PANEL BASE BOTTOM
TUBE EVAP WATER INLET
TUBE WATER DISTRIBUTION
SHIELD BIN DRIP 30IN
SHIELD BIN DRIP 48IN
DRIP SHIELD BIN 22
TUBE PURGE/PUMP
LINER FRONT PANEL
DRIP PAN
O RING SEAL
O RING SEAL (CAP)

O RING SEAL (HEAD)

O RING SEAL (FLAKER)
SLOTTED COLLAR
COVER WATER SHED
GASKET REAR BIN DRAIN
SUMP
BIN 15 IN WIDE
EVAPORATOR HOLDER
TRIM DOOR 15 IN
DOOR 15 IN WIDE
ICE DEFLECTOR
COVER EVAPORATOR TOP
PLATE PUMP SPACER
STANDOFF CIRCUIT BOARD
GRILLE 15 IN WIDE
WATER DISTRIBUTION TUBE
TOP SPRAY BAR
BOTTOM SPRAY BAR
PANEL BIN FILLER 9INCH
CURTAIN
RIVET PLASTIC
NUT PLASTIC
ELBOW PLASTIC
O-RING
LOUVER SIDE SMALL
LOUVER TOP
PANEL FRONT 30IN SHORT
BASE 22IN CUBER
BASE 30IN CUBER
COVER EVAPORATOR SMALL
COVER EVAPORATOR MEDIUM
HOUSING FLOAT SWITCH
HOUSING FLOAT SWITCH

$17.78
$18.44
$15.36
$82.04
$38.04
$23.34
$68.92
$110.40
$49.42
$28.07
$118.42
$6.66
$0.70
$2.03
$0.70
$1.09
$10.96
$6.34
$8.91
$176.99
$604.15
$41.41
$35.87
$70.84
$52.06
$19.17
$37.34
$0.81
$26.78
$49.48
$46.18
$26.07
$116.16
$27.56
$0.66
$1.50
$2.97
$1.95
$29.51
$27.47
$74.16
$394.83
$516.95
$25.73
$215.89
$5.01
$4.77



9051728-01
9051729-01
9051730-01
9051733-01
9051734-01
9051735-01
9051735-03
9051736-01
9051737-01
9051738-01
9051739-01
9051741-01
9051741-02
9051742-01
9051743-01
9051744-01
9051745-01
9051745-02
9051746-01
9051748-01
9051749-01
9051749-02
9051749-03
9051749-04
9051749-05
9051750-01
9051751-01
9051753-01
9051758-01
9051759-01
9051760-01
9051761-01
9051762-01
9051763-01
9051765-01
9051766-01
9061033-01
9091001-02
9091001-03
9091001-04
9091001-08
9091001-09
9091001-10
9091001-11
9091001-12
9091003-02P
9091003-08

BRACKET ADJ FLOAT SWITCH
EVAP SUPPORT LH
EVAP SUPPORT RH

SPILLWAY
RETURN WATER CIM
SIDE EVAPORATOR C40
SIDE EVAPORATOR C180
CURTAIN LOWER ASSY
SUMP SINGLE EVAP
COVERTOP
BRACKET INLET/OUTLET
MOUNT WATER PUMP UPPER
MOUNT WATER PUMP LOWER
PANEL UPPER FILLER 6IN
PLUG
GUIDE HARVEST ASSIST
GASKET TOP PANEL
GASKET TOP PANEL
RIVET SNAP NYLON BLACK
TUBE WATER
TUBE UPPER SM WATER
TUBE UPPER MED WATER
TUBE UPPER LARGE WATER
TUBE UPPER PIKE WATER
TUBE LOWER WATER
CAP EVAPORATOR LOWER
CAP EVAPORATOR UPPER
CONDUIT NM
EVAP SUPPORT LHT
EVAP SUPPORT RHT
COVER EVAPORATOR TALL
PANEL FRONT 30IN TALL
PANEL FRONT 22IN TALL
PANEL FRONT 22IN SHORT
BRACKET SHIPPING
TUBE WATER DISTRIBUTION
Z EXTRUSION LEFT BOT
COUPLING HALF TUBING 3/8
FLANGE MOUNTING
COUPLING HALF W/ VLV 3/8
COUPLING HALF TUBING 1/2
FLANGE MOUNTING

COUPLING HALF W/VLV 1/2

COUPLING HALF 3/8 W/ STU

COUPLING HALF 1/2 W/ STU

10PK ELBOW 3/8 X 3/8
90 EL SLDR TO SHORT RAD

$4.38
$30.91
$33.10
$29.11
$36.53
$13.00
$26.53
$11.19
$26.84
$16.04
$4.85
$2.27
$2.27
$23.52
$3.49
§7.05
$41.84
$61.81
$0.48
$24.99
$25.50
$24.97
$35.79
$37.71
$37.12
$2.43
$2.43
$3.82
$56.30
$58.95
$111.06
$88.19
$81.60
$68.92
$5.15
$26.17
$113.37
$24.72
$2.01
$41.49
$38.13
$2.93
$54.42
$32.99
$52.66
$57.90
$39.94



9091003-10
9091005-01
9091005-03
9091012-05P
9091013-08
9091014-09
9091016-03
9091017-01
9091020-04
9091024-01
9091052-01
9091063-02
9091074-01
9091080-01
9091081-01
9091083-01
9091083-03
9091084-01P
9091084-02P
9091084-03P
9091086-01P
9091086-02P
9091086-03P
9091087-01
9091097-01
9091117-01
9091122-03
9091135-01
9091136-01
9091136-02
9091140-01
9091142-01
9091143-01
9091143-02
9091153-01
9091154-01
9091155-01
9091158-01
9091159-01
9091173-01
9091177-02
9091178-01
9091179-01
9091179-02
9091180-01
9101002-04
9101002-06

ELBOW 1/2 X 3/8 SHORT R
ADAPTER 3/8 OD X 3/8MPT
ADAPTER 1/2 OD X 1/2MPT

10PK TEE 3/8 X 1/4 X 3/8
COUPLING 5/8 OD X 1/2 OD

REDUCER 5/8 FTG X 3/8 0D

ELBOW 3/8 FTG X 3/8 OD
ELBOW 5/80DX5/80D LG R

DISTRIBUTOR 1-3/8X2-1/4

TEE BARBED PLASTIC 5/8
ELBOW PLASTIC 5/8 BARBED
FITTING DROP ADAPT 1/2FP
FITTING DROP ADAPT 3/8FP

FITTING BARREL
FERRULE
FITTING WATER INLET
NUT WATER INLET
10PK PLUG 3/8
10PK PLUG 1/2
10PK PLUG 3/4

10PK STEM SERVICE VALVE
10PK CORE SERVICE VALVE

10PK CAP SERVICE VALVE
ADAPTER 5/8FTG X 1/2MPT

Y ELBOW FITT 3/4 MPT X

Y VALVE BALL 3/4 PIPE
ELBOW 3/4 MPT X 1/2
ZFITTING WATER INLET
FITTING RESTRICTOR TUBE
FITTING RESTR TUBE 3 IN
FITTING DRAIN

FITTING BIN DRAIN
VALVE BASE SMALL
VALVE BASE LARGE

ADAPTER 3/8MPT X 3/4BNF

ADAPTER 3/4MPT X 3/4BARB

ADAPTER 1/2MPT X 1/2BARB

COUPLING HALF 3/8 OD 90
COUPLING HALF1/2 OD 90
DRAIN FITTING ELBOW 3/4
COUPLER STRAIGHT .625 IN

ELBOW CONDUIT FITTING

FITTING RESTRICTER TUBE

FITTING RESTRICTER TUBE
ELBOW REDUCING 11/160D
YCONTACTOR 230V 30 AMP

CONTACTOR 230V 30A

$24.68
$15.47
$10.61
$121.75
$2.78
$4.21
$8.17
$11.88
$3.39
$19.80
§7.31
$44.93
$31.13
$1.09
$12.00
$25.95
$2.78
$2.78
$17.07
$12.25
$40.36
$7.99
$36.71
$7.56
$10.93
$155.88
$2.65
$44.93
$32.38
$20.41
$17.61
$15.47
$82.76
$119.46
$82.65
$5.69
$4.84
$50.04
$80.62
$34.00
$1.88
$17.35
$12.94
$14.19
$38.29
§72.51
$54.39



9101002-07
9101002-08
9101008-01
9101037-01
9101037-02
9101079-02
9101083-01
9101083-02
9101084-01
9101084-02
9101124-02
9101139-03
9101139-04
9101145-03
9101148-01
9101160-01
9101170-01
9101170-02
9101195-01
9101218-01
9101218-11
9101218-12
9101218-13
9101218-14
9101218-15
9101218-16
9101242-01
9101320-01
9101321-01
9101321-02
9101321-03
9101321-04
9101325-01
9101326-01
9101327-02
9101329-01
9101331-01
9101334-01
9101335-01
9101336-01
9101337-01
9101338-01
9101344-01
9101345-01
9101346-01
9101347-01
9101348-01

CONTACTOR 115V 30A
CONTACTOR 230V 30A
CONNECTOR BX STR 3/8
BOARD TERMINAL 3 POS
BOARD TERMINAL 4 POS
CONTACTOR 3P 230V 30A
SOCKET RELAY 2 POLE
SPRING RELAY HOLD-DOWN
RELAY 2 POLE 120 V
RELAY 2 POLE 240V
SWITCH LIMIT SPDT
SWITCH ROCKER SPDT
SWITCH ROCKER
YSWITCH LIMIT SPST 10
TIMER MODULE
SWITCH LIMIT SPDT
Z RELAY BIN CONTROL 120
ZRELAY BIN CONTROL 230V
SWITCH ROCKER DPDT
CORDSET WATER PUMP UC20
CORDSET WATER PUMP
CORDSET WATER PUMP
CORDSET WATER PUMP 1506
CORDSET WATER PUMP ICEU3
CORDSET WATERPUMP
CORDSET WATER PUMP
POWER-CORD W/ PLUG
NIPPLE SHORT
WIRE ASSY BLACK
WIRE ASSY WHITE
WIRE ASSY BROWN
WIRE ASSY BLUE 5/64
PHOTO HOUSING ASSY
LED HOUSING ASSY
WIRE ASSY RED 5/64 14AWG
STRIP TERMINAL
HARNESS LOW VOLTAGE
CONDUCTIVITY PROBE
PRINTED CIRCUIT ASSY
WIRING HARNESS
RECEPTACLE TAB M 1/4 QC
Z SWITCH LIMIT
HIGH VOLTAGE HARNESS
HIGH VOLTAGE HARNESS
WIRE ASSY SERV COMP
POWER CORD BRAZIL
Z SWITCH ROCKER PURGE

$69.23
$109.74
$2.78
$8.14
$11.97
$125.82
$12.29
$2.78
$24.33
$28.27
$32.38
$10.07
$25.95
$38.89
$102.20
$22.32
$32.72
$46.16
$15.31
$4.99
$6.24
$30.59
$8.39
$7.06
$33.24
$7.39
$64.45
$3.23
$4.57
$4.82
$5.73
§7.31
$11.13
$13.04
§7.22
$6.96
$25.00
$49.01
$361.68
$46.35
$2.78
$71.42
$87.87
$71.09
$55.57
$60.21
$9.28



9101349-01
9101368-02
9101369-01
9101370-01
9101373-01
9101380-01
9101380-02
9101380-03
9101380-04
9101381-01
9101381-02
9101381-03
9101381-04
9101385-01
9101394-01
9101397-01
9101399-01
9101400-01
9101400-02
9111001-01
9111001-10
9111002-08
9111002-15
9111002-26
9111002-28
9111002-29
9111004-92
9111012-91
9121001-05
9121001-06
9121015-04P
9121025-91
9121026-01
9121026-02
9121026-91
9121039-01
9121039-02
9121052-01
9121053-01
9121054-01
9131009-01P
9131009-02
9131009-03P
9131009-08P
9131010-02
9131012-01
9131026-02

Z SWITCH ROCKERON-OFF
BOARD CONTROL
BOARD CONTROL

TRANSFORMER

POWER CORD 115V 5-15P

HARNESS WIRE SGL PL AIR

HARNESS WIRE SGL PL AIR

HARNESS WIRE SGL PL
HARNESS WIRE SGL PL
HARNESS WIRE SGL PL AIR
HARNESS WIRE SGL PL
HARNESS WIRE SP DF A/W
HARNESS WIRE SP DF R SV
HARNESS WIRING CIU
SWITCH REMOTE USER
BOX JUNCTION WEATHER
HARNESS WIRE REMOTE
BLOCK TERMINAL 2 POLE
BLOCK TERMINAL 4 POLE
ZV-BELT #2310
Z V-BELT #2290
Z PULLEY 7.930DX5/8
ZPULLEY 5.95 ODX5/8 BORE
Z PULLEY 5.750DX5/8
ZPULLEY 3.25 ODX5/8 BORE
Z PULLEY 2.800DX5/8

ZCOUPLING HALF 3/4 DIA

Z COUPLING HALF 5/8 DIA

BEARING 1.18 IDX2.44 OD

Y BEARING .75 IDX1.62 OD

10PK BUSHING STRAIN
YSEAL AND FACE
Y SEAL ECO-5264**
Y SEAL FACE
Y SEAL AND FACE
YBEARING TAPERED 2.440D
Y BEARING TAPERED 2.050D
BEARING
SEAL LIP
SEAL LIP
10PK O-RING 2-3/4 ID X
ZO-RING 1-5/8 1D X 1/8
Y 10PK O-RING 1-1/4 1D X
10PK O-RING 2 ID X 1/8
ZPIN LOCATING
Z AUGER
CAPLUG 1-3/8 W/ HOLE

$8.73
$346.50
$93.39
$24.03
$51.43
$112.46
$152.22
$103.86
$108.85
$56.30
$57.26
$114.29
$115.54
$104.30
$34.55
$19.85
$53.66
§7.72
$10.80
$23.02
$23.02
$69.69
$57.72
$62.45
$24.59
$30.31
$46.16
$44.51
$32.38
$35.29
$4.95
$280.40
$106.40
$28.57
$163.04
$38.21
$78.90
$224.84
$39.22
$21.46
$106.32
$8.33
$86.13
$81.32
$19.68
$1,158.01
$10.69



9131032-01
9131111-02
9131111-101
9131111-102
9131121-04
9131133-01
9131133-02
9131141-01
9131143-02
9131181-01
9131188-01
9131206-01
9131207-01
9131217-01
9131219-01
9131220-01
9131283-01
9131332-02
9131333-01
9131353-02
9131364-01
9131383-01
9131384-04
9131384-08
9131413-01
9131446-01
9131451-01
9131452-01
9131454-01
9131454-02
9131456-01
9131458-01
9131460-01
9131461-01
9131466-01
9131471-02
9131475-01
9131480-01
9131481-01
9131482-01
9131486-01
9131487-01
9131488-01
9131489-01
9131490-01
9131491-01
9131494-01

Z FLOAT ASSY ECO-5264**
FLOAT VALVE PLASTIC
KIT SERVICE FOR -01
KIT SERVICE FOR -02
PANEL INSUL BOTTOM
Z BLADE FAN 10 IN 34 DEG
Z BLADE FAN 10X30 DEG
ZPANEL INSUL TOP UC
PAD INSULATION
PANEL INSUL DIVIDER C-30
GUIDE PROBE .281 ID
ZNUT RETAINING F-1000
Y NUT RETAINING 2-1/4
YHOUSING UPPER BEARING
Y HOUSING UPPER BEARING
Z HOUSING LOWER BEARING
ZAUGER 1000/2000 KEYED
BLADE FAN 38 DEG 10 IN
BLADE FAN 30 DEG 10 IN
PANEL INSULATION DIVIDER
ZREINFORCEMENT CRT125 BA
BLADE FAN 10 OD 37 DEG
BLADE FAN
BLADE FAN 10 IN 38 DEG
PANEL INSULATION DIV 22
BLADE FAN 8 IN
BLADE FAN VRC
GUARD FAN REMOTE
TOP DISCH WIRE FANGUARD
GUARD WIRE FAN
PANEL INSUL DIVIDER TOP
PANEL INSUL BOTTOM 48
GUARD FAN
BLADE FAN
GASKET BOTTOM KBT21
HANGER ICE SCOOP
FILTER METAL FRAME
NYLON STRAPPING
FLOAT & RESERVOIR
PLUG BIN THERMOSTAT
GASKET
BLADE FAN 10 IN 5 PETAL
BLADE FAN 7.7 IN 5 PETAL
BLADE FAN 11 IN 5 PETAL
BLADE FAN GRC
BLOCK STYROFOAM
BAIL / CLAMP

$172.88
$74.15
$99.36
$104.93
$13.41
$36.92
$11.37
$70.60
$9.45
$14.54
$2.78
$71.68
$73.99
$151.57
$186.48
$118.41
$796.05
$39.53
$39.53
$9.61
$72.67
$31.13
$15.36
$34.89
$14.30
$41.51
$45.93
$98.57
$63.45
$144.10
$21.99
$32.45
$122.42
$132.64
$69.35
$10.72
$60.95
$8.76
$132.71
$2.78
$5.48
$20.62
$16.44
$48.84
$169.59
$2.78
$52.04



9131495-01
9131496-04
9131500-01
9131506-01
9131508-01
9131509-01
9131511-01
9131533-01
9131544-01
9131545-01
9131546-01
9131546-02
9131553-01
9131555-01
9131560-01
9131561-01
9131564-01
9141022-01
9141023-01
9141024-01
9141061-01
9141061-02
9141106-01
9141118-01
9141120-01
9141121-01
9141122-01
9141123-01
9141126-01
9141128-01
9141132-01
9141135-01
9141136-01
9141137-01
9141138-01
9141139-01
9141140-01
9141141-01
9141142-01
9141144-01
9141147-01
9141148-01
9141149-01
9141150-01
9141152-01
9141153-01
9141156-01

CHUTE BODY & INSUL
FREEZER ASSY NUG SM 230V
INSULATOR SWITCH
HOSE SET WATER FRIMONT
INSULATION BASE
INSULATION LH SIDE
BRACKET DELTROL PURGE
BLADE FAN 5.75 39 DEG*
INSULATION TXV-DANFOSS
INSULATION BULB-DANFOSS
GRILL SMALL/LARGE
GRILL MEDIUM
GUARD WIRE FAN REMOTE
BLADE FAN 20 IN CCW
NEEDLE GREASE
INSULATION SUMP
GASKET J-BOX
CONDENSER WATER
CONDENSER-WATER
CONDENSER WATER
CONDENSER WATER
CONDENSER WATER
CONDENSER AIR
CONDENSER AIR ICE0320
CONDENSER AIR ICE500/600
CONDENSER WATER
CONDENSER AIR 2 ROW
CONDENSER WATER
CONDENSER AIR ICEU
CONDENSER AIR ICEU300
CONDENSER AIR ICE1400
CONDENSER AIR
CONDENSER AIR
CONDENSER AIR
CONDENSER AIR 3 ROW
CONDENSER AIR 2 ROW
CONDENSER AIR GRC
CONDENSER WATER SM
CONDENSER WATER LG
CONDENSER AIR 1506T

CONDENSER 25MMX19MM 5/16

CONDENSER SMALL REMOTE
CONDENSER MEDIUM REMOTE
CONDENSER LARGE REMOTE
CONDENSER AIR
CONDENSER AIR
CONDENSER WATER

$54.35
$6,395.09
$5.34
$10.35
$46.35
$102.41
$3.98
$12.02
$10.00
$9.48
$18.82
$25.36
$61.81
$50.05
$27.34
$27.39
$10.58
$395.59
$675.21
$817.65
$488.65
$911.97
$460.94
$341.36
$615.17
$521.00
$900.90
$1,179.18
$434.71
$393.49
$823.94
$609.87
$451.31
$720.11
$364.47
$275.03
$455.10
$528.09
$900.60
$859.88
$102.86
$382.86
$755.95
$1,413.33
$322.37
$513.03
$531.18



9141157-01
9151006-09
9151006-23
9151027-05
9151027-06
9151027-07
9151027-106
9151027-108
9151060-01
9151061-01
9151071-01
9151074-01
9151109-01
9151123-01
9151123-02
9151123-03
9151123-04
9151123-06
9151123-101
9151123-106
9151134-02
9151134-06
9151136-01
9151138-01
9151139-01
9151142-02
9151143-01
9151143-02
9151144-01
9151146-01
9151147-01
9151147-101
9151148-01
9151149-01
9151149-101
9151150-01
9151150-101
9151151-01
9151151-101
9151152-01
9151152-101
9151154-01
9151154-101
9151155-01
9151156-01
9151156-101
9151159-01

CONDENSER WATER
ZVALVE THERMO EXP
ZVALVE THERMO EXP ADJ
VALVE HEAD PRESS 180 LB
VALVE HEAD PRESS 240LB
VALVE HEAD PRESS 220LB
ZKIT SERV REPL LAC 240 L
VALVE HEAD PRESSURE CTRL
RECEIVER
DISTRIBUTOR REFRIGERANT
ACCUMULATOR
RECEIVER
RECEIVER ICE1800-2100R
BODY SOL VALVE 200RB 3T3
BODY SOL VALVE 200RB 4T3
COIL SOL VALVE 115V
COIL SOL VALVE 230V
BODY SOL VALVE 200RB 2T3
KIT SOLENOID VALVE
KIT SOLENOID VALVE
YVALVE THERMO EXP
YVALVE THERMO EXP
ACCUMULATOR SUCTION
RECEIVER
CHECK VALVE
ZVALVE HEAD PRESS 217 LB
FILTER 3/8 ID
FILTER 1/2 1D
HEADER PROCESS
VALVE CROW
VALVE THERMO EXP
KIT TXV SERV REPL -01
BODY SOL VALVE 200RB5T3T
VALVE THERMO EXP
KIT SERV REPL 400/500A/
VALVE THERMO EXP
KIT TXV SERV REPL -01
VALVE THERMO EXP
KIT SERV REPL ICEO606A/
VALVE THERMO EXP
KIT TXV SERV REPL -01
VALVE THERMO EXP
KIT SERV REPL -01
ACCUMULATOR
VALVE THERMO EXP
KIT TXV SERV REPL -01
RECEIVER

$570.47
$188.67
$109.63
$222.38
$280.11
$222.38
$258.42
$169.85
$442.11
$19.04
$275.81
$311.37
$465.83
$84.89
$139.20
$79.44
$79.44
$84.44
$93.88
$93.88
$157.25
$151.70
$272.16
$340.21
$25.58
$169.85
$43.72
$24.83
$48.59
$230.56
$120.68
$138.68
$140.24
$120.68
$138.68
$120.68
$202.58
$120.68
$185.88
$120.68
$138.68
$120.68
$167.25
$74.55
$134.52
$196.09
$580.69



9151161-01
9151161-02
9151163-01
9151163-02
9151163-03
9151163-04
9151164-01
9151165-01
9151166-01
9151166-101
9151167-01
9151168-01
9151169-01
9151170-01
9151171-01
9151172-01
9151172-02
9151182-01
9151182-101
9151184-07
9151184-107
9151187-01
9151188-01
9151188-02
9151188-03
9151188-101
9151188-102
9151189-01
9151191-01
9151192-01
9151192-02
9151192-03
9151193-01
9151193-02
9151194-01
9151196-01
9151197-01
9161028-01
9161076-01
9161076-02

9161076-101P

9161079-02
9161079-03
9161079-06
9161093-01
9161096-01
9161112-01

VALVE THERMO EXP
VALVE TXV AA GT-5637-2
FILTER/DRIER EKO32S(ECT)
FILTER/DRIER EKO83S(ECT)
FILTER/DRIER EKO53S(ECT)
FILTER/DRIER EKO52S(ECT)
ACCUMULATOR MFI1256/

TXV DAN FOSS
VALVE TXV #7 ORFICE
KIT SERV REPL TXV
AUGER DOUBLE FLIGHT
AUGER STUD
FREEZER ASSEMBLY TALL
FREEZER ASSEMBLY SHORT
BREAKER COVER
BREAKER DIVIDER
BREAKER DIVIDER

TXV DANFOSS TUB#6
KIT TXV SERV 9151182-01
TXV DANFOSS TUB ORFICE
KIT TXV SERV 9151184-07
ZTXV ORFICE #1 DANFOSS

TXV 1/4X3/8 TUC
TXV 1/4X3/8 TUC 50HZ
TXV 1/4X3/8 TUA 50HZ
KIT TXV SERVICE
KIT TXV SERVICE
VALVE HOT GAS 50RB40T2M2
ACCUMULATOR
BODY SOL VALVE EVU 5
BODY SOL VALVE EVU 6
BODY SOL VALVE EVU 3
COIL SOL VALVE 110-120V
COIL SOL VALVE 208-240V
VALVE MAGNETIC CHECK
AUGER DOUBLE FLIGHT LONG
ACCUMULATOR SUCTION
ZMOTORFAN6 W 115V
PUMP WATER
PUMP WATER 1550 RPM 220V

10PK THUMBNUT WATER PUMP

YPUMP WATER 3000 RPM
PUMP WATER 3000 RPM 230V
PUMP WATER 3000 RPM 230V

Z MOTOR AUGER 1/4 HP

YMOTOR AUGER 1/3 HP 23

MOTOR FAN 115V 16 W

$126.66
$133.55
$28.33
$29.07
$30.21
$34.30
$274.84
$120.68
$140.61
$204.30
$719.71
$50.20
$1,395.10
$1,264.73
$5.87
$634.13
$634.13
$124.82
$188.94
$122.35
$140.24
$45.27
$115.38
$115.38
$115.32
$134.59
$132.96
$77.34
$44.07
$87.51
$87.51
$87.02
$28.08
$29.69
$69.89
$851.42
$230.06
$181.65
$304.57
$319.13
$2.78
$336.23
$359.52
$358.31
$550.04
$614.75
$192.34



9161112-02
9161117-01
9161117-02
9161118-01
9161120-01
9161120-02
9161121-01
9161121-02
9161124-01
9161124-02
9161124-03
9161125-01
9161126-01
9161127-01
9161132-01
9161133-01
9161134-01
9161134-02
9161135-01
9161135-02
9161136-01
9161136-02
9161137-01
9161137-02
9161138-01
9161138-02
9161139-01
9161140-01
9161141-01
9161142-01
9161142-02
9171010-03
9181002-02
9181002-07P
9181002-08
9181002-09P
9181003-07
9181003-08
9181003-17
9181003-19
9181003-20
9181003-21
9181003-26
9181003-32
9181003-34
9181003-38
9181003-39

MOTOR FAN 230V 16 W
MOTOR FAN 208/230V-50/60
MOTOR FAN 115V-60HZ
MOTOR FAN 1/4 HP 230V
ZMOTOR FAN 115V
MOTOR FAN 230V
MOTOR FAN 115V GRC
MOTOR FAN 230V GRC
MOTOR FAN 35 WATT 115V
MOTOR FAN 35 WATT 230V
MOTOR FAN 35 WATT 230V
MOTOR FAN 230V 60HZ
GEAR MOTOR
GEAR MOTOR 115V
PUMP WATER GPPS-55C-1
MOTOR FAN 6W 115V
HARVEST ASSIST 115V
HARVEST ASSIST 230V
MOTOR FAN 115V 50/60HZ
MOTOR FAN 230V 50/60HZ
MOTOR FAN 115V 50/60HZ
MOTOR FAN 208-240V
PUMP 115V 50/60HZ
PUMP 208-230V 50/60HZ
PUMP 208-230V 50/60HZ
PUMP 208-230V 50/60HZ
MOTOR 115V
MOTOR 230V
GEARCASE GEM/MFI
MOTOR FAN 115V 50/60HZ
MOTOR FAN 208-230V
Z GEAR-REDUCER
SLEEVE
10PK GROMMET
SLEEVE
10PK GROMMET
CAPACITOR ST 145-174@220
YCAPACITOR ST 88-106@220
Z CAPACITOR ST
CAPACITOR ST 145-174@250
ZCAPACITOR ST 108-130@22
CAPACITOR ST 189-227@330
YCAPACITOR ST 72-86@330
CAPACITOR ST 130-156@250
CAPACITOR ST 219-259@330
Z CAPACITOR ST
CAPACITOR ST 378-440@125

$231.89
$391.01
$544.89
$533.56
$293.09
$294.38
$544.06
$442.62
$217.40
$208.53
$229.46
$421.66
$1,614.47
$1,614.47
$243.83
$100.98
$176.25
$176.25
$313.11
$313.11
$225.35
$234.69
$302.07
$297.14
$286.80
$301.76
$817.91
$784.81
$1,399.22
$215.50
$215.50
$1,454.25
$2.78
$22.76
$2.78
$20.04
$74.17
$59.34
$45.10
$93.91
$67.58
$83.69
$71.74
$52.83
$126.93
$38.79
$33.27



9181003-40
9181003-41
9181003-43
9181003-44
9181003-45
9181003-46
9181003-49
9181003-50
9181003-51
9181003-52
9181003-53
9181003-54
9181003-56
9181004-20
9181004-24
9181004-25
9181004-27
9181004-28
9181004-29
9181004-30
9181004-31
9181005-12
9181005-26
9181005-29
9181005-31
9181005-34
9181005-37
9181005-38
9181005-39
9181005-40
9181005-41
9181005-42
9181005-43
9181005-44
9181005-45
9181005-46
9181005-47
9181005-48
9181005-49
9181005-50
9181005-51
9181009-08
9181009-09
9181009-11
9181009-12
9181009-13
9181009-16

CAPACITOR ST 72-88@250
CAPACITOR ST 72-88@330
YCAPACITOR ST 145-175@16
CAPACITOR ST 145-174@330
CAPACITOR ST 72-88@330V
CAPACITOR ST 270-324@165
CAPACITOR START
CAPACITOR START
Z CAPACITOR START.....
CAPACITOR START
CAPACITOR START
CAPACITOR START
CAPACITOR START
RELAY CURRENT
RELAY CURRENT
RELAY CURRENT
Y RELAY CURRENT
RELAY CURRENT
RELAY CURRENT
RELAY CURRENT
RELAY CURRENT
OVERLOAD COMPRESSOR
Z OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
YOVERLOAD COMPRESOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
CAPACITOR RUN 15MFD 370V
ZCAPACITOR RUN 15MFD 440
CAPACITOR RUN 25MFD 370V
CAPACITOR RUN 35MFD 370V
CAPACITOR RUN 40MFD 440V
CAPACITOR RUN 30UF@370

$36.15
$40.28
$38.71
$63.86
$44.77
$58.97
$37.71
$46.52
$73.42
$87.63
$51.41
$54.57
$49.76
$19.52
$44.51
$74.50
$82.94
$29.07
$37.42
$38.45
$41.53
$59.55
$34.35
$11.54
$10.55
$27.03
$38.05
$44.08
$26.04
$18.28
$43.44
$41.49
$33.97
$13.20
$62.30
$24.66
$51.46
$57.55
$25.21
$29.62
$41.38
$29.86
$34.47
$36.26
$44.51
$59.34
$44.51



9181009-17
9181009-18
9181009-19
9181009-20
9181009-25
9181009-26
9181009-27
9181009-28
9181010-01
9181010-04
9181010-10
9181010-11
9181010-12
9181010-14
9181010-27
9181010-28
9181010-29
9181010-30
9181010-32
9181010-33
9181010-34
9181010-35
9181010-36
9181010-37
9181062-12
9181115-12
9181115-13
9181115-14
9181121-11
9181122-11
9181124-11
9181126-11
9181127-11
9181131-11
9181132-01
9181132-02
9181137-11B
9181138-11
9181138-11A
9181139-11
9181140-11
9181140-12
9181140-13
9181141-11
9181141-12
9181142-11
9181142-12

CAPACITOR RUN 30MFD 440V
CAPACITOR RUN 45MFD 370
CAPACITOR RUN 25UF@440

CAPACITOR RUN 40MFD 370V

CAPACITOR RUN
CAPACITOR RUN
CAPACITOR RUN
CAPACITOR RUN
POTENTIAL RELAY
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
KIT SERVICE COMPR -02
KIT SERVICE COMPR -02
KIT SERVICE COMPR -03
KIT SERVICE COMPR -04
KIT SERVICE COMPR -01
KIT SERV COMPR -01
KIT SERV COMPR -01
KIT SERV COMPR -01
KIT SERV COMPR -01
KIT SERV COMP -01
HEATER CRANKCASE
HEATER CRANKCASE
KIT SERV COMP -01
ZKIT SERV COMP -01
KIT SERV COMP -01
KIT SERV. COMPRESSOR 01
KIT SERV. COMPRESSOR 01
KIT SERV. COMPRESSOR 02
KIT SERV. COMPRESSOR 03
KIT SERV. COMPRESSOR 11
KIT SERV. COMPRESSOR 02
KIT SERV. COMPRESSOR 01
KIT SERV. COMPRESSOR 02

$47.81
$63.95
$33.69
$108.80
$117.29
$38.37
$40.86
$28.89
$36.47
$89.75
$86.46
$82.41
§79.21
$86.46
$104.01
$87.60
$36.47
$36.47
$38.96
$36.47
$34.40
$34.40
$34.40
$34.40
$790.71
$837.64
$702.00
$927.41
$1,241.00
$1,395.47
$1,087.18
$949.79
$1,198.66
$990.54
$52.83
$52.83
$1,045.09
$1,475.29
$1,470.68
$1,766.45
$1,792.82
$1,965.04
$1,976.70
$1,974.91
$2,364.02
$1,932.81
$2,253.09



9181143-11
9181143-12
9181143-13
9181144-11
9181144-12
9181145-11A
9181147-11A
9181148-11
9181149-11
9181150-11
9181152-11
9181153-11
9181157-11
9181159-11
9181161-11
9181165-101
9181166-101
9181167-01
9181167-02
9181167-03
9181168-01
9181168-02
9181168-03
9181169-01
9181169-02
9181169-03
9181171-11
9181172-11
9181173-01
9181173-02
9181174-01
9181174-02
9181175-01

KIT SERV. COMPRESSOR 01
KIT SERV. COMPRESSOR 02
KIT SERV. COMPRESSOR 03
KIT SERV. COMPRESSOR 01
KIT SERV. COMPRESSOR 02
COMPRESSOR SERVICE KIT
SERVICE REPLACEMENT KIT
ZCOMPRESSOR KIT
KIT SERVICE COMPRESSOR
KIT SERVICE COMPRESSOR
KIT SERVICE COMPR
KIT SERV. COMPRESSOR
KIT SERVICE COMPRESSOR
KIT SERVICE COMPRESSOR
KIT SERVICE COMPRESSOR
KIT SERV. COMPRESSOR
KIT SERV. COMPRESSOR
RELAY POTENTIAL
RELAY POTENTIAL
RELAY POTENTIAL
CAPACITOR START
CAPACITOR START
CAPACITOR START
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
KIT SERV. COMPRESSOR
KIT SERV. COMPRESSOR
OVERLOAD COMPRESSOR
OVERLOAD COMPRESSOR
RELAY CURRENT
RELAY CURRENT
CAPACITOR START

$2,067.73
$2,418.00
$2,622.89
$2,145.73
$2,420.40
$1,544.67
$1,690.71
$1,494.98
$1,785.72
$1,886.17
$1,859.56
$1,907.84
$400.43
$404.69
$503.11
$1,053.70
$1,150.13
$15.80
$15.80
$15.80
$38.51
$52.33
$51.16
$12.79
$12.79
$12.79
$565.73
$545.15
$9.26
$8.16
$11.69
$13.30
$46.31



